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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271369
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592723029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given responses, find the missing letter in the series:

CY EW GU

Options:

1. v IS
2. % I
3. % LS
4. = IR

Question Number : 1 Question Id : 54592723029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev v fashedl # & Aol & ofca 3187 &1 AT e

CY EW GU

Options:

1. v IS
2. = Jl
3. = LS
4. = IR

Question Number : 2 Question Id : 54592723030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the wrong term in the series?

LI, MJ, NK, OM, PM
Options:

1. » NK
2.vOM
3. = LI
4. = PM

Question Number : 2 Question Id : 54592723030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST H Teld T Tl ?

LI, MJ, NK, OM, PM

Options:

1. = NK
2. v OM
3. = LI
4. = PM

Question Number : 3 Question Id : 54592723031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If each of the letters in SQUAD is replaced by Iits next letter in
the English alphabet then how many vowel will the word
have?

Options:

1. v One
2. s TWO
3. « Three



4, « Four

Question Number : 3 Question Id : 54592723031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T SQUAD & Ucder 38T Sl 3aSiT JUTHTAT H S0k 379Tel
T ° el &7 o7 b eeg A Tohdel T&X 81417

Options:

1. v Tk
2. = &
3. » dlel
4, = AN

Question Number : 4 Question Id : 54592723032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the odd one out from the given alternatives.

Options:

1. » OXygen

2. v Hydrogen

3. = Carbon dioxide

4. = Hydrogen peroxide

Question Number : 4 Question Id : 54592723032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few v Apeul A O /(YA = 71 Hifew]

Options:

1. = 3TFaTste
2. v BIsgreld

3. * hIdel SBIHTFASS

4. = BTE3rolel GUFHTSS

Question Number : 5 Question Id : 54592723033 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given alternatives.

Options:

1. « DEB
2. » MNK
3. v WXV
4. = LM]

Question Number : 5 Question Id : 54592723033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev av fashedt & & favA &1 v

Options:

1. = DEB
2. = MNK
3. v WXV
4. = LMJ

Question Number : 6 Question Id : 54592723034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In each of the following questions, certain pairs of words are
given, out of which the words in all pairs except one, bear a
certain common relationship. Choose the pair in which the
words are differently related.

Options:

1. = Rajasthan : Jaipur

2. » Madhya Pradesh : Bhopal
3. » Sikkim : Gangtok

4. v Meghalaya : Kohima

Question Number : 6 Question Id : 54592723034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fereafafEd ucdsh weal #, o AfRud oee fev v &, o
T Uk hI BISHL GHT SN2 H osg Uk ATeTT AT 9y &
58 SET A gt S ey sreRT aiE & d@efua

Options:

1. % JTETe @ ST
2. » HEY Y3 : HGTel
3. = Rfdsa : e
4. v AL : HIEAT

Question Number : 7 Question Id : 54592723035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number from the given alternatives.

Cobbler : Shoes ::

Options:

1. v Poet : Poem

2. = Author : Film

3. = Carpenter : Play

4. = Dramatist : Newspaper

Question Number : 7 Question Id : 54592723035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl T wea A fGU 9 Theul # & a1
ITET/TSS/TTAT <hl gf&ul

AR S
Options:
=

1. v ST : Hadl




2. % ol : Thed

3. = §¢5 : Wdl

4., = dTchapL : AN Y93

Question Number : 8 Question Id : 54592723036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number from the given alternatives.

BD :CI:
Options:

1. = CM : KK
2. % 1] 1]

3.% CO:FT
4.+ DP:EY

Question Number : 8 Question Id : 54592723036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T wea &, U a0 Deredl # @ Tafaa 38T / o= /
HEAT *1 glAT|

BD: CI =
Options:

1. = CM : KK
2. = |J |

3. » CO: FT
4. v DP : EY

Question Number : 9 Question Id : 54592723037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the related
letter/word/number from the given alternatives.

AZB : BYC : CXD:

Options:

1. v DWE
2. = DEF
3. = DFG
4. » DMN

Question Number : 9 Question Id : 54592723037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl weeT & Tew a0 G<reur & O OufaT
HET/LSS/ATAT <hi gfﬁul

AZB : BYC :: CXD :

Options:

1. v DWE
2. = DEF
3. = DFG
4. = DMN

Question Number : 10 Question Id : 54592723038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If Mango is called Cheese, Cheese 13 called Detergent,
Detergent is called Coffee, Coffee is called honey and honey is
called Mango, which of the following is used for washing
clothes?

Options:

1. v Coffee



2. « Honey
3. = Cheese
4. = Mango

Question Number : 10 Question Id : 54592723038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS 3TH R o7 Fal SIaT &, el &l &coic Fal T &,
f2aSic Sl I @l SITdT &, SIHT T 988 hel SIar & 37
TES P ITH hal SIIdT &, $Us Oidd & 6w fdeT # & forgerr
suAer foRar Srar &7

Options:

1. ¢ RIHr

2. % &G
3. = el

4, % 3TH

Question Number : 11 Question Id : 54592723039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code, the following language is used:

“Drawback world finance now” is coded as “Sk Rk Tk Nk”.
“Finance worst recent problem” is coded as “Pk Gk Sk Fk”.
“Recent world seems better” is coded as “Nk Mk Pk VK”.
“Seems better drawback for” is coded as “Vk MK Rk DK”.

Answer the following questions:

What will be the code for “Seems”?

Options:

1. = Rk



2.« MK
3. = VK
4. v Either MK or VK

Question Number : 11 Question Id : 54592723039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk ARET Fe A, Heafaihd AT &7 39er forar Srer &:

“Drawback world finance now” & "Sk Rk Tk NK" &= &9 H

ifsd foram =T

“Finance worst recent problem” &I “Pk Gk Sk Fk” & &9 #
ifsd fopar =T

“Recent world seems better” &I “Nk Mk Pk Vk* s &9 &
ifsd forar =T

“Seems better drawback for” I “Vk Mk Rk Dk” & &7 &
FIfed Forar =T B

fAeITelEa weat & 3ca difaw:
“Seems” & TOIT HIg FIT EEIT?

Options:

1. = Rk
2. = Mk
3. = VK
4. v T ar Mk =TT Vk

Question Number : 12 Question Id : 54592723040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, a group of letters is given which are
numbered 1, 2, 3, 4, 5 and 6. Below are given four alternatives
containing combinations of these numbers. Select that
combination of numbers so that letters arranged accordingly,
form a meaningful word.

UTPRAB
123456

Options:

1.4,6,3,5,2,1
2.v5,6,4,1, 3,2
3.#4,06,5,2,3,1
4 %5,2,3,1,6,4

Question Number : 12 Question Id : 54592723040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forrafoad weet &, 378 &1 veh @HG fodT a7 &, §&AT 1, 2,
3, 4, 5 3T 6 &Y G0 710 &, =7 A& & TATSleT arel IR
QT QU a1v & g&AT3T & 39 TIIA T IIed L dIieh

&R F AN SIARYIT &, U ATF M58 7|
UTPRAB

123456

Options:

1. = 4, 6, 3, 5, 2, 1

2. v 5, 6,4, 1,3, 2

3. 4,6,5, 2 3,1

4. = 5, 2, 3, 1, 6, 4



Question Number : 13 Question Id : 54592723041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a gathering seven members are sitting in a row. ‘C’ is
sitting left to ‘B’ but on the right to ‘D’. ‘A’ is sitting right to ‘B’
‘F’ is sitting right to ‘E’ but left to ‘D’. ‘H’ s sitting left to ‘E’.
Find the person sitting in the middle.

Options:

1. % C
2.vD
3.=% E
4. = F

Question Number : 13 Question Id : 54592723041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gl § U Uled & 919 I8 86 &1 C, B & SR 3T s &
oifeher D & gET 31X ST &1 ‘A, ‘B’ & gl 3T §ar g1 F,
‘B’ o Ry 3T dor § dfre ‘D’ & @iy 3T o1 &1 H, B+
IRT 3T ST & ALY § 87 Tfod AT HL

Options:

1. = C
2. v D
3. = E
4. = F

Question Number : 14 Question Id : 54592723042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Among five persons — P, Q, R, S and T, each has different
height. Only two persons are shorter than S. T is shorter than
S but taller than R. The one who is the second tallest among
them, is of 158 cm. Which of the following statements is
definitely true with respect to the given information?

Options:

1. = Ris definitely 150 cm
2. » P is possibly 153 cm
3. v T is shorter than S

4. = {) 1s shorter than S

Question Number : 14 Question Id : 54592723042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P, Q R, S 3 T 37elr - 370097 35 & =Iid &1 shaol ar
fFd S @ BIC B T,5 @ BT § Wed R & ofal &1 3a d
EYT e 39T sgierd 158 @/AT T §1 & IRIT SRR F
HAAR, fAraal@T FUal A § FidT - T FIa HAead §9 4
T &7

Options:

1. » R fafeaa s7 & 150 @/ =1 &
2. = P, 153 @/AT FT & FhdT gl

3. v T, S & ®leT &1

4. = Q , S & BT &l

Question Number : 15 Question Id : 54592723043 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Nine players - A through I - participated in a sporting event
and the players are from the countries Bangladesh, America
and England such that each of these countries is represented
by three players.

Furthermore

(1) Neither C nor F belong to either America or England.
(i1) E and H belong to the same country.

(1i1) A, B and D are from different countries.

(iv) B and H are from England.

Who are the players from England?

Options:

1. = AGH
2. = CDE
3. v BHE
4. » BHI

Question Number : 15 Question Id : 54592723043 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



At TEemar - A 8 | o Uk Tl FRIHH H H97 Tolar 3 Femsr
SFeTeel, TANGRT 3T goels S Q2 & &, S8 & Ucdsh ool
1 ufafafaca 3 Fenfsat sanT frar ST &

HEIED

() 7 ar C 3R o & F T G389 3ANHT AT 3965 T &l
(i) E 3T H v & 32 & &

(i) A, B 3¥ D BffesT 2ot & &

(iv) B 3T H 7ol & &I

g9cls & TSt i g7

Options:

1. = AGH
2. = CDE
3. v BHE
4. = BHI

Question Number : 16 Question Id : 54592723044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Madhvi's rank is 13th in a class of 31 students. Give her rank
from the last.

Options:

1. = 15th
2. = 17th
3. » 18th
4. v 19th

Question Number : 16 Question Id : 54592723044 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

31 Tearfeat i1 & H ATYar hr 1347 Aol § JAfaw |
3R AT ATT |

Options:

1. = 153
2. = 17d¥
3. = 18ar
4, v 1947

Question Number : 17 Question Id : 54592723045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

0O is sister of D. D is brother of R. F is mother of 0. How is R
related to F?

Options:

1. » Son

2. » Daughter

3. v Son or Daughter
4. = Son in law

Question Number : 17 Question Id : 54592723045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

O, DR FTEAETID,RFTHATEIF, ORTATEI R, F& FH

1. =

g & ¥

2.
3. ¢
4.

:

Question Number : 18 Question Id : 54592723046 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

In the question below, there are two statements followed by
three conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statements.

Statements:
I. Some Lawyers are girls.
I1. All girls are fair.

Conclusions:

I. Some girls are lawyers.
II. No fair is girl.

III. All girls are lawyers.

Options:

1. v If only conclusion I is true

2. = If only conclusion II is true

3. = If either conclusion I or II is true
4. = If conclusion I and III follow

Question Number : 18 Question Id : 54592723046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A U 310 T A g YU« 3T 394 915 diel vy U e
gl 3Tl €T 9T FYUel hl oI HIdoT & Hel &I d gaard
Jeat & fiea wdia 21 & Tl fasewt & afer e o=
Fifew o fow oo foshst & @ @l a1 Thaard 59 @ 37eperor
LT &, TR FAAT T2 FS 7 gl

hol:
F gehTol, oTSfhAT &l
AT ersfeRat, T §

IGLEAF
. FS TSRdT, Tehlel &1
I. I T IsfraT 18T &I

. THT oIsTeraT, Tehlel &I

Options:

1. v I Shael O5hY | T &
2. » Il el fathy || IcT &
3. « fg ar vy | AT || T &
4. = i sy | 3T 1l w7 &

Question Number : 19 Question Id : 54592723047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



For the Assertion (A) and Reason (R) given below, choose the
correct alternative from the following:

Assertion (A): Attack on United States of America resulted in
the starting of First Gulf War.

Reason (R): The twin trade towers were destroyed in militant
attack.

Options:

1. » Both (A) and (R) are true and (R) is the correct
explanation of (A)

2. = Both {(A) and (R) are true, but (R) 1s not the correct
explanation of (A)

3. = (A) 1s true, but (R) 1s false
4, v (A) 1s false, but (R) is true

Question Number : 19 Question Id : 54592723047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A U 910 gia (V) 3 R0 (3IR) & fov, eafeiaa & |

i '
el Tdhed e
a

ard (V): §IFT Tog HANHT 9T gA & IRUMATIET TUA
1T Ig TF T3

a s )
SROT (R): 3Tdshdrel &He A g ¢8 afay osc Tohd a7 o

Options:

1. = &l (A) 3R (R) @&r § 3 (R) (A) 1 TgT =qT&AT &
2. = gl (A) 3R (R) @ &, ferad (R) (A) T Har TISEIRI0T
o8l &

3. = (A) 99 &, fehet (R) e &




4. v (A) e &, oifera (R) T &

Question Number : 20 Question Id : 54592723048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the following series:

121, 112, , 97,91, 86

Options:

1.+ 104
2. % 109
3. %120
4. % 110

Question Number : 20 Question Id : 54592723048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ferestfel TR szl 1 1 T

121, 112, , 97, 91, &6

Options:

1. v 104
2. = 109
3. = 120
4. = 110

Mental Ability2
Group Number : 2
Group Id: 5459271142
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time: 0



Group Marks: 20

IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Ability?2
Section Id : 5459271142
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271370
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592723049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong term in the given series:

1, 3,9, 27, 81, 241

Options:

1.9

2. % 27
3.= 81
4 v 241

Question Number : 21 Question Id : 54592723049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& IS AW H AT UG AT

1, 3, 9, 27, 81, 241

Options:

1. = 8



2. = 27
3. = 81
4. v 241

Question Number : 22 Question Id : 54592723050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given options:

Options:

1. % 14
2.v 7
3. % 28
4. % 36

Question Number : 22 Question Id : 54592723050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

@w v [aheul A O 8o T&AT hI Ao

-

Options:

1. = 14
2. v 7
3. % 28
4. = 36

Question Number : 23 Question Id : 54592723051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd numeral pair/group in following question:

Options:

1. = 46_5
2.% 376
3. % 647
4. v 82 8



Question Number : 23 Question Id : 54592723051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d uead & favH 31 SNeT / g e

Options:
1. = 465
2. = 3/ 6

3. % 64 7
4. v 82 8

Question Number : 24 Question Id : 54592723052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd numeral pair/group in following question:

Options:

1.« 3-4-49
2. 5-06-121
3.« 8-2-100
4.v7-4-144

Question Number : 24 Question Id : 54592723052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d uead & favH 31 SNeT / g e

Options:

1. % 3 -4
2. % 5-6
2
4

- 49
121
100
144

3. %= 8 -
4, v 7 -

Question Number : 25 Question Id : 54592723053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the related
letter/word/number from the given alternatives.

(435, 530, 642)

Options:

1. = (264, 242, 752)
2. v (264, 242, 750)
3. % (264, 242, 754)
4. = (264, 240, 750)

Question Number : 25 Question Id : 54592723053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFafa@a mead & U a0 [@redl # O gFeiedd
ET/SS/TTAT <hl gf&ul

(435, 530, 642)

Options:

1. = (264, 242, 752)
2. v (264, 242, 750)
3. = (264, 242, 754)
4. = (264, 240, 750)

Question Number : 26 Question Id : 54592723054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find missing number.

6

o




Options:

1. = 21
2.v 24
3. % 20
4 % 18

Question Number : 26 Question Id : 54592723054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oI T&AT ATT he|

5 6
4 (23) 3 2(?)3
l 4
Options:
1. = 21
2. v 24

3. = 20
4. = 18

Question Number : 27 Question Id : 54592723055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘a ‘denotes =, ‘b’ denotes “+°, ‘¢’ denotes -, ‘d’ denotes X,
then 24a6d4b9c8 = ?

Options:

1. = 2
2.v 17
3. % 34
4. %19

Question Number : 27 Question Id : 54592723055 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
I 'a' & 3T ‘47, ‘b’ /T A+, ¢ /T T Y, A RT AT X
& , ar 24a6d4b9c8 = ?

Options:

1. = 2
2. v 17
3. = 34
4. = 19

Question Number : 28 Question Id : 54592723056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In the question given below, there is a statement followed by
two conclusions. You have to take the given statement to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statements.

Statements:
. G>R=2E=A=<T=x<S§

Conclusions:
. G=E
I.LR=A

Options:

1. v Only conclusion II is true.
2. = Only conclusion I is true.
3. = Either conclusion I or Il is true.



4. = Neither conclusion I nor II is true.

Question Number : 28 Question Id : 54592723056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT &0 30 wod H, Uk FUT & §IE o [avhy v aw & |
IR U 910 Kol Y e HATelall &, Hol 81 3§ 3TH ol W
AT d2AT o 91y [9oior id & 3T R aa ¢ oF U aw

hereT H @ kst T foivhy cifcher &9 & 3To[EOT HIAT §

()
v
py
Y
T
I
X
IA
—
IA
)

. G =z E
. R = A

Options:

1. v hael oy || T &I

2. % ohaol [oIShY | T &l
3. = T ar @y | I7 1l 9T &
4, = o ar fachy | 3T o & Il 97 &1

Question Number : 29 Question Id : 54592723057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given options:

Options:

1. % 5,13,17
2.%29,1,5
3.+ 17,171



4.v15,5,5

Question Number : 29 Question Id : 54592723057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R AT Redt 7§ few e O

Options:

1. = 5, 13, 17
2. % 29,1, 5
3.% 17, 17, 1
4. v 15, 5, 5

Question Number : 30 Question Id : 54592723058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following diagrams best represents a
relationship among Pencil, Pen and Writing Instruments?

Options:

,.O00

..QC
©

Question Number : 30 Question Id : 54592723058 Question Type: MCQ Option Shuffling: Yes

4. =



Correct Marks: 1 Wrong Marks: 0.25

AT ™d H & ahid @7 T 9fad, 9 3 ofEe ard« =
AT gy T ufaafdeg sIar §7

Options:

.. 000

.. OC
©

4. =

Question Number : 31 Question Id : 54592723059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given figure, the circle represents Urban, rectangle
represents Male, and Square represents Educate which region
represents educated urban male?

Options:



1.6
2.v4
3.% 7
4, %5

Question Number : 31 Question Id : 54592723059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar R JTRTA & god, Aedl F1 gfdfafded FIT §, 3mad, &Y
T UTdTITSed hdT &, 391, RITET 1 Ulalarecg dr g ar
hiet @7 &7 FRfEra eogdr gev 1 uidfafdca wwar &2

Options:

1. = 6
2. v 4
3. % 7
4, = 5

Question Number : 32 Question Id : 54592723060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the series by choosing right figure from the given
choices.

Problem Figures

oL




Options:

b

1. =

2. o BK
3.«
S

Question Number : 32 Question Id : 54592723060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fgu a0 fashedt & & FEl 3cay Teiohd HTolT R T F|

S

Options:

b

1. =

2. . B
5.« WS



o P

Question Number : 33 Question Id : 54592723061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the series by choosing right figure from the given
choices.

Al Al A2

(@ () () ()

Options:
A
1. =
2. % .
A
3.v
A
4, =

Question Number : 33 Question Id : 54592723061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fgu v fashedt A & WEl 3oy eIl HZeT R T F|

Al Al A2

(@ () () ()

Options:
A
1. =
2. % .
A
3. v
A
4. =

Question Number : 34 Question Id : 54592723062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Find the missing figure in the given matrix.

D PO
QO ® &

B A2




Options:

L@
. @
. O
2 &

Question Number : 34 Question Id : 54592723062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev a1v #fearq # oea 3MHiT AT HISIT)

P
&
S

Options:

P> || P

® ©



.. O
v ®

Question Number : 35 Question Id : 54592723063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the four figures are in a sequence or similarity in
some way or the other, while one of them is different from
the rest. You have to choose the figure which is odd /different:

Options:

Question Number : 35 Question Id : 54592723063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



frafe@a ax ™A & & diT # U AT &, S8l 3a8 &
Uk STehT & 37T §| 3TART d8 JThid delell § S fA5H /
foIeat &I

Options:

.
. I
LK

"

Question Number : 36 Question Id : 54592723064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many rectangles are there in the figure given below?

Options:

1. =7
2. % 8



3.v9
4, = 11

Question Number : 36 Question Id : 54592723064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s &1 aT$ 3Mpiad # Tohddal 3 §7

Options:

1. = 7
2. % 8
3. v 9
4. = 11

Question Number : 37 Question Id : 54592723065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following questions four positions of the same dice are
shown. Select the symbol opposite to the symbol as asked in
the question.

Which symbol will be opposite to symbol * A 7
Options:

1. = 0



2. % =
3. v X

4 = A

Question Number : 37 Question Id : 54592723065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tt d W H Uk && UTET shl I BT & a=iy &1 woet
H Y& 9V e & [AwWid [es & AT Siieiv]

+ + - O
w0 = = '& + & & =
I II I11 IV
A faest ¥ oda Pl ar fes gam

Options:

1. = 0

L

3. v X

4, = A

Question Number : 38 Question Id : 54592723066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question find the answer figure in which
question figure is embedded.

Question Figure

*

Options:




4, v

Question Number : 38 Question Id : 54592723066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few 910 wesT A IcaT 3Mpl AT SISV [T weet 3Tepfe

Aleaiad ol

wgal JFl

%

Options:




N

4. v

Question Number : 39 Question Id : 54592723067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which answer figure will complete the pattern in the
question figure?

Question Figures,

Options:

na
e

Y
3.#‘

X

~4
4. = X

Question Number : 39 Question Id : 54592723067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



shiel H 3cc 3Rl WeeT 3MTpfcl # Ucer ST I HI?

U9al APl

=J

Options:

i

A

_'g

L

2

Question Number : 40 Question Id : 54592723068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following choices is the exact mirror image of
the main figure.

Main Figure
-2

Options:

26)

1.«




Question Number : 40 Question Id : 54592723068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad & @ wia @1 Ohed A&T Jpfar FT Tk Zyor
S gl

g2 3Tehid

-5

Options:




=l

General Awarenessi

Group Number : 3
Group Id: 5459271143
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness1

Section Id : 5459271143

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271371
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592723069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mark the correct match of regional dances with their
respective states, in which they are prevalent.

Options:

1. = Theyyam - Gujarat



2. » Dandiya Raas - Kerala
3. » Yakshagana - Maharashtra
4. v Cheraw - Mizoram

Question Number : 41 Question Id : 54592723069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Tl T 3eieh & &5 sfcar & Fal [Aomer s =iged
=, 9gH T udled &

Options:

1. = ATTH - ISR

2. % ZISAT TH - hiel

3. % JETIT - HERIE
4. v WG - THIRHA

Question Number : 42 Question Id : 54592723070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The instruments like Kamaicha are

Options:

1. = Wind instruments

2. v Stringed instruments
3. * Rhythm instruments
4. = Reed Instruments

Question Number : 42 Question Id : 54592723070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FHAT S THT 3TRLOT .y

Options:

1. = arg 39Ul

2. v dXT Ty

3. = dTel 9l



4. » HIFETHT TET

Question Number : 43 Question Id : 54592723071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In which of the following states is Durga Puja the biggest
festival?

Options:

1. » Tamil Nadu
2. = Punjab

3. = Karnataka
4. v West Bengal

Question Number : 43 Question Id : 54592723071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Il gl foeilead & & T T &1 T4 3T cAI8R &7

Options:

1. = dMACEg
2. = USld

3. % @hallceh
4. v IRTH A

Question Number : 44 Question Id : 54592723072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This monument was built by Nawab Asaf-ud-Daula in 1784
and its designer was Kifayat-ullah. It is situated in Lucknow
and is neither a mosque nor a mausoleum. Which of the
following monuments is being talked about?

Options:

1. = Begum Kothi
2. v Bara Imambara
3. » Hawa Mahal



4, « Sheesh Mahal

Question Number : 44 Question Id : 54592723072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T TAN ! AdTe EEB-36-ael o 1784 # Faarar o7 30T
=gl 3olBa TFhRIT -3edld A7 I8 @3 & Fud § 3R

a ar altee & 3t 7 & #AFs| Aeaela # 8 9 TARE
ST 1T HT ST TET §?

Options:

1. = SIH ST

2. v ST SHTHSTET
3. = @4l Hgol

4. = <frer AgeT

Question Number : 45 Question Id : 54592723073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fiscal Policy is an estimate of (1) and (i1) that
impacts the economy.

Options:

1. = (1)Taxation ,(i))Foreign Direct Investors
2. = (1)Government spending, (ii) Foregin Direct Investors
3. v (1) Taxation, (ii) Government Spending

4. = (1) Government spending, (ii) Loans from International
Financial Institution

Question Number : 45 Question Id : 54592723073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ISt i (i) 3T (i) T Teh 3TefHAT &
ST 3rTeaeaT T qHIad FLAr &

Options:




1. = (i) aame, (i) BT vcger aerh
2. = (i) TTHAT ==, (i) Todel ucuer foders

3. v (i) SO, (i) GIHRT =TT,
4, = (i) GTRAT =g, (i) FaUseT Acda geard @ #or

Question Number : 46 Question Id : 54592723074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s the sum total of the net value added and depreciation
of all the firms of the economy.

Options:

1. v Gross Domestic Product

2. « National Domestic Product
3. = Inflation
4. = Deflation

Question Number : 46 Question Id : 54592723074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIeTTEAT F TAT BAl & faga Fegardd 3R

HeTgrd T &l 9T &l

Options:

1. v Gehol 22l 3cUle
2. * TSR T 3c91S
3. * HAEHITT
4.

o

% IEHITT

Question Number : 47 Question Id : 54592723075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The food procured by the Food Corporation of India is
distributed through government regulated ration shops
among the poorer section of the society. This is called PDS. In
this ‘P’ stands for:

Options:

1. = Private

2. = Permanent
3. = Price

4. v Public

Question Number : 47 Question Id : 54592723075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T foetH garT RIS 0 st I THRT Afeafaa
TTelel Ghlell o ATETH & TATS & I ol A faaRa frar
STaT &1 38 WSy FaEr AT &1 398 P oFr 7T &

Options:

1. % Tolaim
2. % TATT
3. » Aol

4. v AR

Question Number : 48 Question Id : 54592723076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following are not the properties of the image
formed by plane mirror?

Options:

1. v Image formed by a plane mirror is always real and erect.
2. = The size of the image is equal to that of the object.

3. = The image formed is as far behind the mirror as the
object is in front of it.



4. = The image Is laterally inverted.

Question Number : 48 Question Id : 54592723076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & @ Fid a1 FAdS 90T 2arT AT Sia & 0T
1p. v GHAJS GUUT EaNT FaT UidlsFs Heg aedidsh 3 @ram
grar g

2. % VIQTEFET &1 5ol S & 5o & sde aidr &l

3. = UTATSFs SUUT & U1 3ol &7 §Y Selal § , foidell gl W
ZUUT & HTHA &7 [§ew gar &

4. « yfalee ursg gRafda aar &

Question Number : 49 Question Id : 54592723077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is Ohm’s law?

Options:

1. = The potential difference, V, across the ends of a given
metallic wire in an electric circuit is indirectly proportional to
the current flowing through it, provided its pressure remains
the same.

2. = The potential difference, V, across the ends of a given
metallic wire In an electric circuit is directly proportional to
the current flowing through it, provided its pressure remains
the same.

3. v The potential difference, V, across the ends of a given
metallic wire in an electric circuit is directly proportional to
the current flowing through it, provided its temperature
remains the same.



4. = The potential difference, V, across the ends of a given
metallic wire in an electric circuit is indirectly proportional to
the current flowing through it, provided its temperature
remains the same.

Question Number : 49 Question Id : 54592723077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A T FTH FAT &7

Options:

1. » Uh fdegd 9oy & o & ar & ar G & &
fesrared saa varfgd get arell fdegd «’r & arvcas
HHATSITCAT BT &, W dR T &1 AT &1 eV

2. » Ueh Tdegd IO H o] + dF F ar R & S
fareraTeay 38 vaifgd gla arell fdegd €T & Ychel TATard]
BIaT &, W dN T a1 AT Igall MgV

3. v U fdegd uRuy # org & df & & O & &
fersraTea 3HA varige glet arell fdedd eRT & Wcael AT

BT &, T dR T A9 FATA IgaT ATET

4. » T Toega aROy # o1 F a8 F & B & A
faerareay 3UA varigd gle arell fdegd «r & 31icger
THATSITAT BT &, W dR T d19 AT g1 MV

Question Number : 50 Question Id : 54592723078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How will a compass behave if it is placed near the north pole
of magnet?

Options:




1. = The south pole of the needle points towards the South
pole of the magnet. The north pole of the compass is directed
towards from the north pole of the magnet.

2. = The south pole of the needle points towards the south
pole of the magnet. The north pole of the compass is directed
away from the north pole of the magnet.

3. = The south pole of the needle points towards the north
pole of the magnet. The north pole of the compass is directed
towards from the north pole of the magnet.

4. v The south pole of the needle points towards the north
pole of the magnet. The north pole of the compass 1s directed
away from the north pole of the magnet.

Question Number : 50 Question Id : 54592723078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

afe Fud ok (G Faeh TF) F Sccail ¥d & I T&@T ST
g dl Ush Feu 8 SUTEN HLa?

Options:

1. = g FT ST&ION ¢ o & SATOT ¢F T 3 FHRIT HIAT §
| FEIE &k Sccll a1 Tk s Scorl g k1 A @i
foraT SITaT B

2. = gg FT STATON 4T ok F af&T0l ¢@ HT 3N AT FIAT &
| FEAH F 3ccll ga HT o F 3coll g F gy AR
foraT STt B

3. » gy 1 &0 ¢a qaw F 3ol Yd FT 3N AT Far §
| FEIE &k Sccll a1 Tk s Scorl g k1 A @i
foraT ST )




4. v g &1 TN gF g F ookl ga HT T ST FaT ¥
| FFAE & Seadl gd T el Scodl YT I gy R
fepam Sirar &

Question Number : 51 Question Id : 54592723079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will happen if excess of CuSO 4 is added in Biuret Test?

Options:

1. v Solution will be of blue colour instead of violet colour.
2. » Solution will be of violet colour instead of blue colour
3. = Solution will be of green colour instead of violet colour
4. = Solution will be of red colour instead of violet colour

Question Number : 51 Question Id : 54592723079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aﬁaﬁapqﬁaﬂwﬁCuS%ﬁaﬁamﬁaﬁam%
ar =T e

Options:

1. v SITAT AT T Foged avtel &7 T LM

2. % gilel LT & SFollT [dordel SaTeiT 3T hT FIaIT|
3. = HITAT W1 F FoNT T & TT FT 9|
4. = ST W o T TdolTeT ool 3T T BI4M|

Question Number : 52 Question Id : 54592723080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Cell type 1s Eukaryotic. Cell wall is present but without
cellulose. Nuclear membrane is present. Mode of nutrition is
Saprophytic. Identify the Kingdom.

Options:

1. = Monera



2. % Protista
3. v Fungi
4. = Animalia

Question Number : 52 Question Id : 54592723080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RINFT FT ThR JHRANEH &1 AT HAlcd 3URIT &, W
e TR &1 Fegeh Brear 3ufewd gxdr &1 arvor FHr [fY
AR &1 ST $I gTre|

Options:

1. = HeNT

2. % HlcEeT

3. v Hdeh (Hall5)
4.

« QfatATerar

Question Number : 53 Question Id : 54592723081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bacilli is a:
Options:

1. = Virus

2. *» Fungus

3. v Bacteria

4. = Type of cell

Question Number : 53 Question Id : 54592723081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Sellg T 7

Options:

1. = qEed
2. % hdeh



S.wGﬁT:ITUg
4. = RITART hT UK

Question Number : 54 Question Id : 54592723082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mark the correct statement regarding Energy flow in a food
chain.

Options:

1. = Flow of energy is bidirectional.

2. v The energy that is captured by the autotrophs does not
revert back to the solar input.

3. = The energy which passes to the herbivores come back to
autotrophs.

4. = As it moves progressively through the various trophic
levels it could be available to some levels.

Question Number : 54 Question Id : 54592723082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Soll UaTg & Jeiadg el s w "feea = -

Options:

1. = Zetl o varg feafeferer grar g

2. v TN Sl SaRT #E0T hT I Sl YT AR e A
gfafda g ardr &

3. * ATRIEINAT R TATATART T 75 ol Yof: TIUHT SHAT hY
3qclsd glar &l

4. » Jg ATHeT NI TR T HiHSd TATAGRT 8dT & ,39at
T Ug FT TRI & o0 3Tey & Fohal ¢

Question Number : 55 Question Id : 54592723083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Who discovered the vaccine for small pox?

Options:

1. = Alexander Fleming
2. v Edward Jenner

3. » Robert Koch

4. = Louis Pasteur

Question Number : 55 Question Id : 54592723083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TTHh & Slh hl Wiol Tohdel s oAT?

Options:
1p. % 3TolFoisy TelfHar
2. v USds Slel
3. = J&¢ &I
4,

* o5 UTET

Question Number : 56 Question Id : 54592723084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Indus originates from a glacier near Bokhar Chu. Mark the
correct statement regarding Bokhar Chu:

Options:

1. = It is in the Uttarakhand region.
2. v It is in the Tibetian region.

3. = It is in the Zaskar range.

4. = It is in the Aravalli range.

Question Number : 56 Question Id : 54592723084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fay r sedfed SRR & 9 Th TARR § §F &1 A
& TEY H el U 3hd

Options:




1. » Ig§ 3cdr@s &7 H Bl
2. v I Tdssdr &9 & &1
3. = I§ FAER AU H Tl
4. = Ig ITTell AT H &

Question Number : 57 Question Id : 54592723085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Naga Hills are part of which of the following?

Options:

1. v The Eastern Hills

2. » Western Ghat

3. » Aravall Range

4. = Uttarakhand Himalayas

Question Number : 57 Question Id : 54592723085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT ugieal (feed) Tefai@aa & & raesr 7ear &7

Options:

1. v qdf ggrisar
x UTTgHAT °TC

2.
3. = 37dell A
4. » 3cau@s @A

Question Number : 58 Question Id : 54592723086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This is the extended margin of each continent occupied by
relatively shallow seas and gulfs. Identify this relief feature.

Options:

1. = Continental Slope

2. v Continental shelf



3. = Deep Sea Plain
4. = The Oceanic deeps

Question Number : 58 Question Id : 54592723086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IqE Ucdsh HglGarT 7 [aegd SIATT &iar §, St 3T9eTgwhd
3yl AT TAT WA T TERT 81T &1 39 3T ETor R
Ug<Tal |

1. = HAGIEAYT @lel
2. v AEEAINRT e
3. = &Y THar Hera
4, » FSERRIT AT

Question Number : 59 Question Id : 54592723087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Kharif crops are grown in Southern
India during June - September season?

Options:

1. v Jowar and Groundnut
2. » Wheat and Gram
3. » Mustard and Barley

4. = Rapeseeds only

Question Number : 59 Question Id : 54592723087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farfaf@a & @ #ia @ =ade wod fE sRa # S -
e & AlGA & 395 SIar 87

1. v @R 3R Harhell




2.&31@311'{@
3. = gIEr X St
4. % ol shellell oh STl

Question Number : 60 Question Id : 54592723088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rainfed areas often experience erosion of soil by which of the
following method?

Options:

1. * Wind erosion only

2. = Water erosion only

3. v Wind erosion and Water erosion

4. = These areas never experience soil erosion

Question Number : 60 Question Id : 54592723088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gul 3T &7 3R foieel # 8 68 37 8 #ar s7Rea
HeIHd A &7
Options:

1. = chadl a3

2. % hdel oTel U

3. v A UG 3R ST e
4. « Ig &9 FT oY F{eT el FT Ieprd gl HIA g

General Awareness?

Group Number : 4

Group ld: 5459271144
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0



Group Marks: 20

IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness?

Section Id : 5459271144

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271372
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592723089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not a physical factor responsible for
the spatial distribution of population?

Options:

1. = Availability of water

2. = Climate of a region

3. v Evolution of settled agriculture
4. = Terrain of a region

Question Number : 61 Question Id : 54592723089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

@& T # T i T JAGEIT & TUTfeleh [GaloT & Tolw
e oifas wRe ar &7

Options:

1. % YTal I 3TelseIdl
2.&@&%?%3@




3. v TUTS FN FT fGwrg
4. » TH & FT T3

Question Number : 62 Question Id : 54592723090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Indus Valley sites are present in India?

Options:

1. = Only Kot Diji and Nageshwar

2. v Only Nageshwar and Banawali
3. » Only Kot Dijji and Ganwaeriwala
4. = Only Ganweriwala and Banawali

Question Number : 62 Question Id : 54592723090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foastial@d & @ Fla @ by el & Tue 9Rd 7 Ao &7

Options:

1. % hael hic Gloil 3T dAMERaT
2. v had AERaY AT Fearell

3. = ohdel sl areil 3T IA{iare
4. = el IALGTET 3T Ferarelr

Question Number : 63 Question Id : 54592723091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mark the correct match of Vedic era terminologies with their
meanings:

Options:

1. = Mlechchha - People who were engaged with “polluting”
activities

2. v Nishada - People who lived in forests

3. » Chandala - People who spoke non-Sanskritic languages



4. = Chandala - People who lived in forests

Question Number : 63 Question Id : 54592723091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dfeer gar 1 eregraell FT FE AT 3k 3t & @ F

Options:

1. = Aolxo - S ‘g +d & 53 &
2. v ToI9Ig - ST oleT SieTell & W@ad o
3. * TUSTS - S AT I-HEFT AT deld &
4. % TTUSTeT - ST olleT SaTell A @& &

Question Number : 64 Question Id : 54592723092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

During medieval era, Al - Biruni wrote (i) ;Jwhereas (ii)
was written by Ibn Battuta.

Options:

1. = (1) Rihla, (11)Kitab - ul-Hind

2. = (1) Rihla, (11) Akbar Nama

3. = (1) Kitab -ul-hind, (i1) Akbarnama
4. v (1) Kitab - ul-hind, (ii)Rihla

Question Number : 64 Question Id : 54592723092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HEeRTellel JIT ok NI, 37T - foFeal o (i) o o,
&t (i) Ssel ST ST T &T aram 2|
Options:

1. = (i) Rgam, (i) Fraw - 3o-fig

2. % (i) &, (i) 3R oATH]

3. % (i) TraE - 3a-T&g, (i) 3Thaara
4. v (i) Brame - Jer-fie, (i) Regar




Question Number : 65 Question Id : 54592723093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following events happened in the year 15277

Options:

1. = Babur defeated Ibrahim Lodhi and his Afghan supporters
at Panipat.

2. v Babur defeated Rana Sanga, Rajput rulers and allies at
Khanua.

3. » Babur defeated the Rajputs at Chanderi.
4, » Babur defeated Sher Shah Suri at Lucknow.

Question Number : 65 Question Id : 54592723093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gy 1527 H Taaeloli@&d H & el T Tcar Ter?

Options:

1. = S§ET o 9laad H SSIgH ardr 3T 39 3R GHAHRT
T g1

2. v SIS o 3T H 0T HEM, AT AR AR Ik
FEIET I &

3. » T A I A TeTqAl I ST

4, » TEAS F FEC A MRAE G FT AT

Question Number : 66 Question Id : 54592723094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year did Mahatma Gandhi return to India from
South Africa?

Options:

1. = 1910
2. % 1912
3. +1915



4. % 1918

Question Number : 66 Question Id : 54592723094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATcAT T fofg a¥ & ETE0T 3hieRT @ 9RA die 247

Options:

1. = 1910
2. % 1912
3. v 1915
4. = 1918

Question Number : 67 Question Id : 54592723095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following movement did Gandhiji didn’t
participate himself, although gave his blessings?

Options:

1. v Protests against the Simon Commission
2. » Ahmedabad Mill Strike

3. = Protests against the Rowlatt Act

4. = Protests against Division of Bengal

Question Number : 67 Question Id : 54592723095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafei@a A7 O Fg e & ST oF T AT Ta] TolT
ofT, ETellieh 3ealed 3Tefalg faam ar?

Options:

1. v HIEH 39T & Fomh T veele
2. % EHACIEIE THT g3dral

3. = Jlelc U T Taarer

4. = AN TATST o Warw e ugels




Question Number : 68 Question Id : 54592723096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the odd one out with respect to their profession:

Options:

1. = Raghuram Rajan
2. = Urijit Patel

3. » C.Rangarajan

4. v Amartya Sen

Question Number : 68 Question Id : 54592723096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Oor o Y9 H OYH [Fhed &7 I3 R

Options:

1. = A ITofe

2. = 3faid 9l
3. % @T. PRIl
4. v AT A

Question Number : 69 Question Id : 54592723097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ms. Teejan Bal has been awarded the Padma Vibhushan for
her contribution in the field of:

Options:

1. = Public Affairs

2. = Trade and Industry-Infrastructure
3. » Art-Acting-Theatre

4. v Art-Vocals-Folk

Question Number : 69 Question Id : 54592723097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT retel S1$ T TR &7 # 3ok Anrere & fov oe fasyor
8 AT ToRaT 1T §7

Options:

1. % dEollaeh HATHe
2. * SYOR AT SeART-FAAET ar=r
3. = For-3THaT-I2ReT

4. v FoT-IMAA-allh

Question Number : 70 Question Id : 54592723098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the following groups of books, which group has all the
books written by Amish Tripathi?

Options:
1. * The Immortals of Meluha, The Krishna Key, Sita-Warrior
of Mithila

2. = Scion of Ikshavakuy, Jaya, The Oath of the Vayuputras

3. v Raavan: Enemy of Aryavarta, Scion of Ikshavaku, The
Secret of the Nagas

4. = Keepers of the Kalchakra, Chanakya’s Chant, The Oath of
the Vayuputras

Question Number : 70 Question Id : 54592723098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qeciehl & fasaifeli@d THg & &, Fiad THg & aR Tecdh
3ifaer Burér ganr forEaa &7

Options:

1. » AGl & Hcgsd (The Immortals of Meluha), FTom Fsi

(The Krishna Key), @rar- f&fSem $r Iar (Sita-Warrior of
Mithila)




2. Z&ATH % @ereT (Scion of lkshavaku), ST (Jaya), gl
FT @9y (The Oath of the Vayuputras)

3. v T@UT: A & e (Raavan: Enemy of

Aryavarta), &drsh & gerel (Scion of lkshavaku), sTamair 1
BT (The Secret of the Nagas)

4, = FToldsh o TEdlel (Keepers of the Kalchakra), Toea
T ST (Chanakya’s Chant), aIqat T e9el (The Oath of

the Vayuputras)

Question Number : 71 Question Id : 54592723099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This organization is headquartered in Mumbai and is headed
by Ajay Tyagl. Which of the following organization is being
talked about?

Options:

1. = IRDAI (Insurance Regulatory and Development Authority)

2. = NABARD (National Bank For Agriculture And Rural
Development)

3. » LIC (Life Insurance Corporation of India)
4. v SEBI (Securities and Exchange Board of India)

Question Number : 71 Question Id : 54592723099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SH TINSeT T EITT Jas H § 3 FTHR aAcd 37T 19l
W g Tarafal@a & & T Gaaa & I & &1 I o7 W&o
g7

Options:

1. = E.IINLTIE. (AT Afeamas 3w [ arfdson)
2. = WS (TS FY AT ATATOT [dhrE &F)




3. » UL (RO Sitad AT )
4. v G (#ARCE wld¥fa 3R AT 95)

Question Number : 72 Question Id : 54592723100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mark the incorrect statements about the International Solar
Alliance or ISA:

Options:

1. = It was founded in the year 2015.

2. « More than a 122 countries are members to this
organization.

3. » It was founded at Paris, but its headquarters is in
Gurugram.

4. v It is a common platform for cooperation among countries
lying fully or partially on Equator.

Question Number : 72 Question Id : 54592723100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT G ST AT ISUAT & FR H el Hel i
IEIEGGEGTE

1. » Sl TATYT-ay 2015 ﬁg‘é 2T

2. % 122 & 37Uk 327 3H IS & TEET g

3.« sﬂﬁﬁrwﬁﬁ‘ﬂﬁg@&ﬁ, olfchel SHHRT HTAT
TEaTH H §

4. v g HACY J@T U 3Tal dlel 3 T Ueh AT A &l

Question Number : 73 Question Id : 54592723101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



14 June is celebrated as the World Blood Donor Day on the
occasion of the birth-anniversary of a famous biologist. Who
is he and by what name is he also known as?

Options:

1. v Karl Landsteiner, Father of Blood Groups

2. » August Krogh, Father of Blood Transfusion

3. » Robert Koch, Father of Blood Groups

4. = William Einthoven, Father of Blood Transfusion

Question Number : 73 Question Id : 54592723101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

14 S[aT T Ueh UiE SNafdamer & SeA-dad & 3{aaT @
e Torderar fGaq & ®U & HAT AT &1 38 i & 37
3og Topd ATH & SATAT ATAT &7

Options:

1.%%#@?@“,@@?%
2. % 3IME 1T, TFA 3T & STeleh

3. = TEC FI, TFd FHZN & Seleh

4. » R(TOTH vAdad, I&d 3T o oldh

Question Number : 74 Question Id : 54592723102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a Constitutional Body?

Options:

1. = NITI Aayog

2. v State Public Service Commission

3. » Central Information Commuission

4. = National Human Rights Commission

Question Number : 74 Question Id : 54592723102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



@ # @ sia v gdufas e §7

Options:

1. % alifc 3T

2. v T olleh JaT 34T

3. # Hl FIET AT

4, = ST ATAAIARR AT

Question Number : 75 Question Id : 54592723103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Article of the Indian Constitution can
be said includes the provisions of the National Food Security
Act, 20137

Options:

1. = Article 14
2. » Article 18
3. = Article 20
4. v Article 21

Question Number : 75 Question Id : 54592723103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ARAT TFaTeT & farAfai@dd 7 & f5g s 7 T
e et fafaadA, 2013 & drayre e g & I8 Fg
Hqhl 87

1p.w31§faaa14

2. » HcoT 18

3. = 3eeag 20

4.&*31@1_&321

Question Number : 76 Question Id : 54592723104 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs of Constitutional Amendment
Acts are related to the matter of defection of Parliamentary
members from one political party to another?

Options:

1. v 52nd Amendment Act and 91st Amendment Act
2. » 73rd Amendment Act and 77th Amendment Act
3. = 42nd Amendment Act and 55th Amendment Act
4. » 35th Amendment Act and 47th Amendment Act

Question Number : 76 Question Id : 54592723104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao Ta gauTass gengd MAfafagat #§ O sl dr g
THET Gl & Teh ofelliclsh &of & GEY H Gofeigel & HIHe!
o gefad g7

Options:

1. v 5241 @emee ffafaad 3 91ar Fenye fafaga
2. % 73ar genye A 3R 77ar denee frafaas
3. = 4247 genye AfATaA 3R 55a1 G affafaaA
4. » 3501 geneel fAfaTd A 47ar Fenee rfafaaa

Question Number : 77 Question Id : 54592723105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following features was not a provision of the
Regulating Act of 17737

Options:

1. = It designated the Governor of Bengal as the ‘Governor-
General of Bengal’

2. = It provided for the establishment of a Supreme Court at
Calcutta comprising one chief justice and three other judges



3. v It created a new body called Board of Control to manage
the political affairs

4. = It prohibited the servants of the Company from engaging
in any private trade or accepting presents or bribes from
the ‘natives’

Question Number : 77 Question Id : 54592723105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Trae@d # @ i &7 FAwdar 1773 & RBeadAs Aaeas
(FgaIfear ueke, 1773) T Waurel i 2417

Options:

1. % SHa STl o ITaL hl 'SIMT oh IdelL-ofael o T H
ATTAT Forar am

2. % ZHa FolchedT H TGt IRITST hT TATTAT Hr fFaA
Ush HET AR 3R dlel 37 wgrefien S enfaer fora

3. v S Joleilicieh ATHAT &l YFYe Flal o TolT &5 3TH

Fhelol slTHF Teh 1T Tolehl ST

4. % T FIaT F JfAFRAT FF 7AYo s = A&
Heldel gla AT ‘Hel @@y @ #c a1 Regd &R Fa 4
TRt

Question Number : 78 Question Id : 54592723106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(1)__ is one of the greatest Indian (1ii) :

Options:

1. = (1) Balbir Singh Dosanjh (ii) Sprinters

2. » (1) Prakash Padukone (ii) Tennis players
3. v (1) Geet Sethi (i1) Billiards Players
4. = (1) Vijender Singh Dosanjh (ii) Wrestlers



Question Number : 78 Question Id : 54592723106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

) T&s A JAaT (i) H & Uh gl

1p. % (i) JeldT &g arEmsT (i) araent
2. = (i) wehrer drgeRIoT (i) e Reremfsa
3. v (i) T V1 (i) Pferasd Tenfzat
4. = (i) faoieg &g e (i) ggerars

Question Number : 79 Question Id : 54592723107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following are teams of the Pro Kabaddi League?

Options:

1. = Only Bengaluru Bulls, Dabang Mumbail and Punjab
Warriors

2. = Only Puneri Paltan and Awadhe Warriors

3. » Only Dabang Mumbai,Puneri Paltan and Awadhe
Warriors

4. v Only Bengaluru Bulls and Puneri Paltan

Question Number : 79 Question Id : 54592723107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U HESST o9l hT aTH fAeaiali&d & & i & 57

Options:
1. » &ael ST Fodd, 691 Hog 3R Tolg aiRa
2. = hael YaT Teed T 3ay aTiaw
3. * hael gE9T A, YT Tocel AT 3@y i
4. v FTl % FoH 3T JalT Teea

Question Number : 80 Question Id : 54592723108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following games is often referred to as “The
Beautiful Game”?

Options:

1. = Cricket

2. v Football

3. = Tennis

4. » Badminton

Question Number : 80 Question Id : 54592723108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foasTfal@ & & The ol 1 3R 'S YD A" FgT ST
&7

Options:

1. = Tohehe
2.&?@3{
3. » ¢l
4, » SSTAC

Arithmetic Ability1
Group Number : 5
Group Id: 5459271145
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability1



Section Id : 5459271145

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271373
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592723109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

Y1296 - 0.6 =7

Options:

1.+ 6

2. % 0.06
3. % 0.6
4. = 60

Question Number : 81 Question Id : 54592723109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el &T el # Uesiares eg (?) & T 9T FIT 3T

ATV

v12.96 + 0.6 =7

Options:

1. v 6
2. % 0.06



3. = 0.6
4. = 60

Question Number : 82 Question Id : 54592723110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

(2.45)% + 7.35 (1.55)° - 4.65(2.45)% - (1.55)% _

!‘)
(2.45)% - 2% 2.45 % 1.55 + (1.55)° 2

Options:

1. = 0.8
2.+ 0.9
3. = 0.7
4. % 0.6

Question Number : 82 Question Id : 54592723110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T e # wReaaes Neg (?) & TATH UT FAT 3T

Sl

(2.45)% + 7.35 (1.55)% — 4.65(2.45)% - (1.55)% _

0y
(2.45)° = 2x2.45%1.55 +(1.55)° .

Options:

1. = 0.8
2. v 09
3. = 0.7
4. = 0.6

Question Number : 83 Question Id : 54592723111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What should come in place of the question mark (?) in the
following question?

Z 1 2
-+ 3-— —_ =72

Options:

1. = 1.5
2. % 4.5
3. % 3.5
4. v 2.5

Question Number : 83 Question Id : 54592723111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafa T wee H wReare eg (?) & TUTH 9T FAT 3T

Sl

2 1 2

F— o iy _:?
43+35 55 ?
Options:

1. = 1.5
2. » 4.5
3. = 3.5
4. v 2.5

Question Number : 84 Question Id : 54592723112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

Options:



1. = -41
2. %41
3.v-42
4, % 42

Question Number : 84 Question Id : 54592723112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafoaa wes & uesTare [eg (?) & TUTT UT FAT 3HTe]

x 42

Question Number : 85 Question Id : 54592723113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

(0.064) x (0.4)7 = (0.4)? x (0.0256)

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1.7
2.2
3.8
4.6



Question Number : 85 Question Id : 54592723113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATt T U2sT H Uelardes eg (?) & TUTT 9T FAT 3HTa]

AT

(0.064) x (0.4)7 = (0.4)? x (0.0256)

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1.7
2. 2
3. 8
4. 6

Question Number : 86 Question Id : 54592723114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

240 - 112+ 113 x 2+ 2 =7
Options:

1. = 141
2. v 241
3. = 242
4. % 142

Question Number : 86 Question Id : 54592723114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T wesT H weeTares g (?) & TUTT UT FAT 3Te]

aqTigT?

240 - 112 + 113 x 2 + 2 =7

Options:

1. = 141
2. v 241
3. % 242
4. = 142

Question Number : 87 Question Id : 54592723115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The largest four digit number that is exactly divisible by 11, 7
& 13 1s:

Options:

1. = 9990
2. = 9099
3.+ 9009
4. = 9909

Question Number : 87 Question Id : 54592723115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fed 31 @ 37 T qEdr & 11, 7 3R 13 @ quia: fosmsy
g

Options:

1. = 9990
2. = 9099
3. v 9009




4. = 9909

Question Number : 88 Question Id : 54592723116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The smallest number, which when increased by 4 is divisible
by each of 10, 12 and 15:

Options:

1. % 55
2. v 506
3. % 38
4. % 60

Question Number : 88 Question Id : 54592723116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T8 ST 96T, R 4 sara 1T 10, 12 3T 15 ucds &
s &

Options:

1. = 85
2. v 56
3. = 58
4. = 60

Question Number : 89 Question Id : 54592723117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following numbers is divisible by both 11 and
127

Options:

1. = 4830
2. v 2640
3. = 3584
4. = 4686



Question Number : 89 Question Id : 54592723117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafei@a & O i I g&ar 11 3T 12 g O Fdea &7

Options:

1. = 4830
2. v 2640
3. = 3584
4. = 46806

Question Number : 90 Question Id : 54592723118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When the sum of the digits of a number is subtracted from
the number, then which of the following will completely
divide the result?

Options:

1.6
2.v9
3.+ 11
4, %5

Question Number : 90 Question Id : 54592723118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S FoRdY &AT o 3R T T I&IT & 91T SrdT &, ar
frafaf@d # & siad a1 dFeT 39 aRUmAE $I @ g 4
faefara sam?

Options:

1. = 6
2. v 9
3. = 11




4. = 5

Question Number : 91 Question Id : 54592723119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

L . 2 r - i
A shopkeeper sells a product on three successive discounts of 16; %, 22% and 25% to

his customer. The amount of third discount is Rs.225 less than the sum of the amount of
first two discounts. What is the selling price of the product?

Options:

1. = Rs.670
2. v Rs.585
3. * Rs.882
4. » RsS.770

Question Number : 91 Question Id : 54592723119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH GHEGR IS UAHH & 163%, 22% 3R 25% #r N FHAF g 9 3curg FIar B
dX g & U gger & g fr R Y o A 225 T FA 1 3G F [GHT 7o
T 872

Options:

1. = 670 39X
2. v 585 sq
3. = 882 T
4. = 770 T

Question Number : 92 Question Id : 54592723120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average income of 70 employees in a colony, which
consists of only bank employees and teachers, is Rs.35000. The
number of teachers in the colony is four times the number of
bank employees. If the average income of the bank employees
i1s Rs.21000, find the average income of teachers.

Options:

1. » Rs.45000



2. » Rs.41600
3. v Rs.38500
4. = Rs.36500

Question Number : 92 Question Id : 54592723120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh hidlladl # 70 FATNAT T A8 3= 35000 39 g,

S e d FHATNRT AN &&Tw &1 Fialal H TRIERT
TEAT dF FHARET kT TEAT & AN T 1 Al dF FAARAT
T a3 21000 92 &, ar TRerert hr 3iaa 3 A
FITSIT]

Options:

1. = 45000 s92
2. % 41600 9
3. v 38500 Tud
4. = 36500 Ty

Question Number : 93 Question Id : 54592723121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average height of the students of classes A, B and C are 82
cm, 68 cm and 86 ¢cm respectively. The average height of the
classes A and B is 74 ¢cm and that of B and € is 78 cim. What Is
the average height of classes A, B and C together?

Options:

1.+ 79 cm
2. % 80 cm
3. % 81 cm
4, = 82.5cm

Question Number : 93 Question Id : 54592723121 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

F&T A, B 3 C & orEr Fr 3iga a5 FAT: 82 TAT, 68
AT 3T 86 AT &1 A 3T B & omEr & iEa 74 @A i B
3N C & ol #r 3iad daa 3 78 AT g1 FET A, B 3K
C o SMEl sl T 91T A $T 3ad a5 fohdar g7

Options:

1. v 79 @A
2. = 80 @AY
3. = 81 9#AT
4. = 82.5 AAT

Question Number : 94 Question Id : 54592723122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Kiran scored 55 percent of the maximum marks in Hindi and
X percent of the maximum marks in English and 75 percent of
the maximum marks in Physics. The maximum marks for all
the three subjects were same. If the overall percentage of
marks scored by Kiran in the three subjects is 63 percent,
then find the value of x.

Options:

1.+ 59
2. % 506
3. % b2
4. % 61

Question Number : 94 Question Id : 54592723122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



foRor & REr & AT aad 37k T 55% 3T 37T & 3T9hdd
37T T x% AR Ao T & 3TSFdd 3T T 75% TR
forar et fawat & v 3w aw 3% gae 41 afe Sia
fasar & TR0 2gRT el 3Rl T gfaerd 63% &, dr x &1 Al
AT RIS

Options:

1. v 59
2. » 56
3. % 62
4. » 67

Question Number : 95 Question Id : 54592723123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The value of @ machine depreciates at a certain rate for every
year. It depreciates by 10 percent in the first year and 20
percent in the second year. If the present value of the
machine is Rs.1656, then find the value of the machine two
years ago.

Options:

1. » Rs.2400
2. » Rs.2800
3. ®= Rs.1980
4. v Rs.2300

Question Number : 95 Question Id : 54592723123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Al T Hed Tcdsh ¥ & TV U foilead a7 & A g S
gl I8 Ugel a¥ H 10% 3R g@l a¥ # 20% & A 8 A &
Ife AT T TAATST Hed 1656 S0 &, T & ATel Tgel Feflef

& Hed T 9T o&M0|

Options:

1. = 2400 392
2. % 2800 TU}
3. » 1980 T
4. v 2300 39

Question Number : 96 Question Id : 54592723124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In an election between two contestants A and B, 70 percent of
the registered voters cast their votes out of which 10 percent
are invalid. A won the election by a majority of 7938 votes
which is equal to 28 percent of valid votes. Find the total
number of registered voters in the election.

Options:

1. » 52000
2. % 35500
3. %= 42600
4. v 45000

Question Number : 96 Question Id : 54592723124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar ufafaat A 3 B & & geid A, Yellhd Hderdsi & &
70% o 39a dic STel, o GH & 10% 37ATT &1 A 7938 #al

é?agﬂ?—rﬁgmq ST i de Al & 28% F sre &1 A
H YSilehd HAAGIAT3N T Fel TCAT AT HITSAT




Options:

1. = 52000
2. = 35500
3. = 42600
4. v 45000

Question Number : 97 Question Id : 54592723125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rohit bought an article at a discount of 32 percent. He sold the
article for Rs.17000 at a profit of 25 percent. What would be
the profit percentage gained by him if he bought the article at
a discount of 22 percent and there is no change in the selling
price?

Options:

1. =

14
99— 0b
39

Question Number : 97 Question Id : 54592723125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AfgT o 32% Fr B¢ W T 3cug TLET| 3Ha 25% & ored
q¢ 3c4Tg @l 17000 392 & &1 IS 39 3cUIE T 22% hl
B W EHIET & 3N 9T #eF # FIT dge@ oar fohar § ar
39k SANT UTed ot Uiderd a1 g1emm|

Options:

1. =

1%
g— 90
39 %

32
g 0
35 %0

2. ¢

31
8— 9
3_ s i

4 ® 10‘: r’j"lll.'.l

Question Number : 98 Question Id : 54592723126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A product X is marked 56 percent more than its cost price and
is sold at a discount of 25 percent to gain m percent profit.
What would be the selling price, if the discount given is of
Rs.117?

Options:

1. » Rs.234
2. » Rs.400
3. v Rs.351
4. » Rs.379

Question Number : 98 Question Id : 54592723126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Ueh 3c0Tg X T 3T ST H{ed 8 56% 37Tae fafgera fomam
ST & 3 38 m% oTH 9o el & folv 25% $r g9
ST ST &1 9 Hea sram glemm, Ife & 918 o 117 S92 =T
g7

Options:

1. = 234 39
2. = 400 39
3. v 351 39
4. = 379 39T

Question Number : 99 Question Id : 54592723127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A washing machine was bought at Rs. P and sold at 25 percent
profit. If the cost price reduced by 10 percent and the selling
price increased by Rs.900 then the profit percentage would be
50 percent. Find the value of P.

Options:

1. v Rs.9000
2. » Rs.8000
3. * Rs.11000
4. = Rs.14000

Question Number : 99 Question Id : 54592723127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk girer AR & P 30 & =Ier 137 MK 25% oy 9T P
AT ST IR™ATI 3PN R Hed 10% A & Sirar 3 feshr
Aed H 900 TU T gig Bar dr omsT gicerd 50% BIdr P sk

ATl AT i |

Options:




1. v 9000 9
2. % 8000 TU
3. = 11000 &9
4. % 14000 T9A

Question Number : 100 Question 1d : 54592723128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sum of the ages of Virat, Hardik and Mahi is 122 years.
Three years ago, the ratio of ages of Virat and Mahi was 8 : 5.
The ratio of Hardik’s age after two years and Mahi’s age one
year ago is 5 : 4. Find the age of Hardik three years ago.

Options:

1. = 38 yr
2. % 32 yr
3.v35yr
4. = 41 yr

Question Number : 100 Question 1d : 54592723128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e, g 30T AT T 3H T AT 122 il &1 died 9Tl
ugel, feTe 3T ATEr HT 3H FT Sfe[UraT 8: 5 AT| T Hiel &1
gifcsh T 38 3T Ush ATl Tgel HATEN I 3H FT U 5: 4 &
dlel ATeT Uge 8ITeeh T 3 T UdT SIMT|

Options:

1. = 38 "Il

2.« 32 @Tel
3. v 35 @Tel
4, = 41 @Ter



Arithmetic Ability2

Group Number : 6
Group Id: 5459271146
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability2
Section Id : 5459271146
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271374
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592723129 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Vivek started a new coaching. The amounts he invested in
infrastructure, purchase of goods and marketing are in the
ratio of 6: 9: 5 respectively. Out of marketing expenditure 25
percent was spent on local paper ads. If he spent Rs.5000 on
local paper ads, then find his total expenditure.

Options:

1. v Rs.80000

2. » Rs.120000
3. = Rs.175000
4. = Rs.140000



Question Number : 101 Question 1d : 54592723129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fads & Uk o5 FIRET F HT| 3T FAAET S A, ATl H
g 3 fauore # swAen 6: 9: 5 % et & fader fomar E
AuueT =g & ¥ 25% T el [dader W BT ohaT

AT AT IS 3TA TATAT FRETeT [FA9ar I 5000 9 E=T
frw, ar 3@ el T AT T

Options:

1. v 80000 393
2. = 120000 s
3. = 175000 39
4. = 140000 &9

Question Number : 102 Question Id : 54592723130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The mean proportion of two numbers a and b is such that, it
1s 24 more than the a and 72 less than b. Find the product of a
and b.

Options:

1. = 1764
2. v 1296
3.% 1225
4. = 1444

Question Number : 102 Question 1d : 54592723130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& TEAT a 3 b HT AT 37Ul VT &, T6 a & 24 317k §
I b & 72 FA B a 3 b H IR AT HIToi |

Options:




1. = 1/64
2. v 1296
3. = 1225
4. = 1444

Question Number : 103 Question Id : 54592723131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mohan invested Rs.P on simple interest at the rate of 12.5
percent p.a. for 3 years, and he invested Rs.(P+ 2000) on
compound interest at the rate of 10 percent p.a. for 2 years. If
the total interest earned by him is Rs.8610, find the total
amount invested by Mohan.

Options:

1. » Rs.28000
2. » Rs.24000
3. v Rs.30000
4. = Rs.36000

Question Number : 103 Question Id : 54592723131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATga o FTUROT sTeT W &P 12.5% uiad ay $r T & 3 gl
& Tow, 3 Tsrglg sareT W & (P + 2000) 10% i ay &1
X @ 2 ant & fot feder fRA | afe 38k anT 3ot Fer
SATST 8610 39 &, O HAlgel canl ﬁr’lﬁﬁr‘cﬁrﬂé’@ﬂfﬂﬂ

TqdT STy

Options:

1. = 28000 9
2. = 24000 9




3. v 30000 39
4. = 36000 T

Question Number : 104 Question 1d : 54592723132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A total of Rs.28500 is invested in two different schemes X and
Y on simple interest. Scheme X offers simple interest at 12
percent p.a. for 5 years. Scheme Y offers simple interest at 18
percent for 3 years. If both the schemes give equal amount of
interest, then find the amount invested in X.

Options:

1. v Rs.13500
2. » Rs.15000
3. = Rs.14500
4. = Rs.14000

Question Number : 104 Question Id : 54592723132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIROT STTST YT &1 37ed1-370097 Aretaliait X 3 Y & Fel &,
28500 w1 foder foram Sirar g1 Istar X 12% ufa a¥ shrax |
5 st o o GTYRUT sITe Yalel dl &1 | Aatar ¥ & 3
g & oIT 18% ufad a¥ i1 g & GrarRor sarel [Holar &1 Ife
Al JISTATT HHTA AT aal g, ar X 7 fader &r 715 Tfer

Tdr oee|

Options:

1. v 13500 39
2. % 15000 T9y
3. * 14500 9y
4. % 14000 TUA




Question Number : 105 Question 1d : 54592723133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person invests Rs.24,500 on simple interest at 12 percent
p.a. for three years and he invests Rs.15,600 on compound
interest at a 15 percent p.a. for two years. Find the difference
between the interests earned on the two sums at the end of
their respective periods of investment.

Options:

1. » RS.3586
2. » Rs.3642
3. v Rs.3789
4. » Rs.3847

Question Number : 105 Question Id : 54592723133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh SdTad 12% Wi @Y kT & & ATIROT sATeT 9T dlel dTel
foIlw %.24,500 k1 Toider dr &1 31 389a 15% Ui ay =T &
# ar @rel & v Thgig sOTef 9 %.15,600 1 fader fomam)
e foder $r aafar & g # g e W atfeorg s &

ST T 3dT ATd R

Options:

1. = 3586 Tq
2. % 3642 TU
3. v 3789 vq
4. = 3847 T

Question Number : 106 Question Id : 54592723134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A boat can travel at 12 kmph in still water. It traveled 135 km
upstream in a river and back taking altogether 24 hours. Find

the rate at which the stream flows.

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. 3 kmm/hour
2. 4 km/hour
3. 5 km/hour
4. 6 km/hour

Question Number : 106 Question Id : 54592723134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush d1d T I H 12 TRAT Ufd g¢ I TFAR & AT T
TehdT ElTT o <l & 135 AT 9RT & R@IRT ImEr U 3T
sﬁﬁwmﬁ%‘ﬂmﬁml g8 ¥ AT F oF W

JRT F&dT ol

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. 3 TrAEer
2. 4 TRAVEeT
3. 5 TeraAv/EeT
4. 6 TRHAVEeT

Question Number : 107 Question Id : 54592723135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If Abhinav increases his speed by 16 percent, he reaches office
8 minutes earlier. Find the time taken by the Abhinav to
reach his office if his speed is decreased by 33.33 percent.

Options:



1. = 50 Minutes
2. » 58 Minutes
3. = 66 Minutes
4, v 87 Minutes

Question Number : 107 Question Id : 54592723135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife 3rfiag 3ver afg 16% sarar &, ar ag 8 fAede uge
AT Llétldl & afe 3ffea Fr aifa 33.33% A & Sar &,
ar 38 FATIT Th qg?l?rT H 9T greT AT AT |

Options:

1. = 50 TAse
2. = 58 TAaC
3. = 66 A
4. v 87 Thec

Question Number : 108 Question 1d : 54592723136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A policeman is 108 meters behind a thief. The policeman runs
16 metres and the thief 13 metres in a minute. In what time
will the policeman catch the thief?

Options:

1. » 34 min
2. » 45 min
3. v 36 min
4. = 54 min

Question Number : 108 Question Id : 54592723136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



wgﬁvwﬁmtﬁmaﬂﬁ?mmsmmgl
gferd vk fAeie # 16 #Aler A =X v fAee # 13 Hew gisd
&1 gror fovcel T & AR T Thg olalr?

Options:

1. = 34 fAde
2. % 45 Thele
3. v 36 e
4. = 54 el

Question Number : 109 Question 1d : 54592723137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eight farmers take 4 hours to plough 12 acres of land. What is
the area of land that will be ploughed; if 12 farmers work for
14 hours at the, same efficiency as the previous case?

Options:

1. = 52 acres
2. v b3 acres
3. = 58 acres
4. = 65 acres

Question Number : 109 Question Id : 54592723137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uhg A HT SAS & folv 3Te FRaTel F 4 € eI §1 3R
12 TorETel 14 8¢ HTH G §,d7 HfH FT1 &% AT Hiford
STeifeh foRETalT T FTH FTal T &THIT Jaad &7

Options:

1. = 52 Udhg

2. v 63 Uhs
3. = 58 Ukg



4. = 65 Uehg

Question Number : 110 Question Id : 54592723138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

P can do a work 1n 26 days. If R is 30 percent more efficient

than P, R will complete the work in (days):

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1.18.2
2. 20
3. 26/7
4. 30

Question Number : 110 Question Id : 54592723138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P U FTH &I 6 &al & T Thar &1 IE R, P & 30% 3=+
TETH &, df R & &1 fordal faat & 1 Ham|

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 18.2
2. 20
3. 2617
4. 30

Question Number : 111 Question 1d : 54592723139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A work can be finished in 12 days by 28 workers. If the work
were 10 be finished in 8 days, how many additional workers

would be required?

Options:

1. = 16



2.v14
3. %18
4. % 8

Question Number : 111 Question Id : 54592723139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh R sl 28 HTHTI @RT 12 fead & THTd fohaT ST Hehcl
g afe FF FT 8 AT & & gATT TFAT S o1, ar fohda
MAREFa STAT T HaTRdr arein?

Options:

1. = 16
2. v 14
3. = 18
4., = 8

Question Number : 112 Question Id : 54592723140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A conical vessel whose internal radius is 12 cm and height 50
c¢m 1s full of liquid. The contents are emptied into a cylindrical
vessel with radius (internal) 10 cm. The height to which the
liquid rises in the cylindrical vessel is?

Options:

1. = 25 cm
2. % 20 cm
3. v 24cm
4, % 22 cm

Question Number : 112 Question Id : 54592723140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



12 @78, 3maRe =T 3T 50 9.8 395 areT T& R
Sctel T YaTd & [T ST B FH Tere FT 10 AL HTARS
B arel SR §deT § FTell Y AT J1ar &1 SolaTh

S H ¥l Ugre Torg 3918 deh 31U

Options:

1. = 25 T
2. = 20 |9,
3. v 24 9.4
4. = 22 §.A.

Question Number : 113 Question Id : 54592723141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In what ratio are the volumes of a cylinder, a cone and a
sphere if each has the same diameter and Same height?

Options:

1.«=1:3:2
2.%2:3:1
3.v3:1:2
4.%3:2:1

Question Number : 113 Question Id : 54592723141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afg T dAe, Th IF R UF Il H TdF FT A TAT §
IR FAE FATS & AV STkl HIA FohE 3efdTcd & gem?

Options:
1. = 1 :3:2
2. % 2 3 1

3.v3:1:2



4., = 3 2 1

Question Number : 114 Question Id : 54592723142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A rectangle has its length 10 cm more than twice the side of a
square and breadth 12 cm less than the side of the square. If
the rectangle has the same perimeter, as that of the square,
find the area of the square.

Options:

2
1. = 8 cm

2. % 10 cm2
2
3. %= 6CIn

2
4.« 4 cm

Question Number : 114 Question Id : 54592723142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk A HT oETg, Uk a1 ST T el & ala A 10
HEAET 3T & 3T <SS ol &1 3o HT &g F 12 QA
FH T AT T H g go7 Fr af & swew &, ar FoT &
&R ATT IV

Options:

2
1. = 8 cm

2
2. = 10 cm

2
3. = 6 cm

2
4. v 4 cm



Question Number : 115 Question 1d : 54592723143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Study the following Table carefully to answer the questions.
The following Table represents the number (in thousands) of

Laptops produced by three different companies in the
different years.

year Company A | Company B | Company C
2012 40 45 25
2013 50 50 35
2014 52 35 40
2015 50 60 35
2016 64 B3 60
2017 70 70 80

What was the approximate average number of Laptops
manufactured by company A over all the years together?

Options:

1. = 56000
2. % 40000
3. = 50000
4. v 61000

Question Number : 115 Question Id : 54592723143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafaf@a weall &7 3ca¥ 3ot & T arfersrr &1 earaqde

eI |

aifeeT fAffiea awt & e 3reEr-3teeT Fufadl ganT 3earfed
gerT hT FEAT (AR H) T 21T &

g% |FHTA |FE e | FEEC
2012 40 45 25
2013 50 50 35
2014 52 55 0
2015 90 60 55
2016 64 65 60
2017 70 70 20

el ast & suer A ganrT Affia suera fr eer-arer stea

AT &7 24017

Options:

1. = 56000
2. = 40000
3. = 50000
4. v 61000

Question Number : 116 Question Id : 54592723144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following Pie-chart shows the distribution of expenses (in
degrees) of a family during 2019 Total Income of the family in
2019 is Rs. 1080.

Clothes,

sge Fent
Saving
30 o0

eI al*
Eduration g

Food

Transport

How much they spend (in Rs.) on clothes?

Options:

1.+ 150
2. % 200
3. = 180
4. % 240

Question Number : 116 Question 1d : 54592723144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SR few ae gRE Te # a¥ 2019 & e v TRER % =9
T Tgaxor (f3air. #) =& cemar =37 &1 ay 2019 # gRaN r
Fel 3T 1080 T g

TR
G fasar
T - i
og° 60°
4 T
for=m
i

FUsT 9T TRAT =T TR AT hi?

Options:

1. v 150
2. = 200
3. = 180
4. = 240

Question Number : 117 Question Id : 54592723145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following table carefully to answer these questions:-

Populations (in thousands) of Six States over the years
STATE

A B C D E F
2012 80 110 185 140 110 125
2013 | 85 125 189 150 120 140
2014 | 92 140 193 160 140 160
2015 | 119 150 210 185 135 175
2016 | 125 170 215 230 145 190
2017 | 130 190 226 240 160 200

Years

What was the average population of all the states together in
20177

Options:

1.+ 1,91,000
2. % 1,82,000
3. = 1,86,200
4. % 1,75,500

Question Number : 117 Question Id : 54592723145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fArafaf@a deall &1 3ca¥ &ot & v aEuEiyEas fAeafafd

dTTeIeRT T 3TeTITT FHi-

&w v a5t # 6 =1 1 FEET (59N H)
Eir |
A B C D E F
2012 ai 110 185 140 110 125
2013 85 125 189 150 120 140
2014 92 140 193 160 140 160

2015 119 150 210 185 139 175

2016( 125 170 215 230 145 190
2017 130 190 226 240 160 200

2017 A @Y U=t &1 g FagEar a7 o1?

Options:

1. ¢ 1,91,000
2. = 1,82,000
3. = 1,86,200
4. = 1,75,500

Question Number : 118 Question 1d : 54592723146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following graph and Table carefully to answer the
questions.

Bar graph represents the Percentage of employees working in
various departments of an organization and Table represents
the ratio of Men to Women.

Total Number of Employees = 9000

3o.0o% o Production,

26.00%
Ii.m T “,dl-m

HR, 18% Markating, Accounts,
20.00% - Rrr S e S
15.00% -
10.00% -
5.00% -
0.00% - T
Production HR IT Marketing  Accounts

Dept. = Depanment
Respective Ratio of Men to Women in Each Department

Department Men Women
Production 1
HR 3 g
IT 3 5
Marketing 2
Accounts 4 5

What is the number of men working in the Marketing
department?

Options:

1. = 460
2. % 450
3. v 340



4. % 240

Question Number : 118 Question Id : 54592723146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafeT@a geal &1 3caX a1 & v farafei@a amw iy
ATTelehT T eATTYdeh HETAeT i

I I affea Qe & FTH e grel FATTRAT o Wiaerd
T ERTAT § 3 crferehr qesT T AfEeaf & kAT 3fe[dTd R
gedr g

FHATIT hT Fo T&IT = 9000

| a0 —

'Fhmr 26.00%
2500

FET EENE 21 m
20.00%
1500%

g fiamr, - e 18.00% -
1% I 17.00%
GM - l [

10.00%
m'r A J'rr#ﬂ"hm “h'mn' srar Tt

m
ST BT A qEEl AYT AR FT FAW IO

Rrsmmr g A
ST 1 2
A 5 8
Fga 3 5
frqur 2 7
= 2 5

faqore fasmeT & F1A FI dlel TEN HT FEAT Fohclll 87

Options:



1. = 460
2. = 450
3. v 340
4. = 240

Question Number : 119 Question Id : 54592723147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Following line-graph shows the percentage profit earned by
two companies A and B during the period of 2012 to 2018.

2012 2013 2014 2015 2016 2017 2018
—#—CompanyB == CompanyA

If the expenditure of Company A in 2013 is the same as the
income of B in 2015, then what would be the ratio of the
expenditure of B in 2015 to the income of A in 20137

Options:

1.+5:9
2.%4:9
3.« 7:15
4 % 8:15

Question Number : 119 Question Id : 54592723147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.5 :9
2. = 4:9
3. = 7:15
4. = & : 15

Question Number : 120 Question Id : 54592723148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following bar graph carefully and answer the
questions.

B State University W Central University

anchk
L"L}E

0 LS
[
m o

1

Enrollme nt
== T O S O = 1]

Years

Total enrollments in both State University and Central
University during the year 1980, 1990 and 2000 is.

Options:

1. = 80000
2. 66000
3. v 70000
4. % 76000

Question Number : 120 Question Id : 54592723148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = 80000
2. = 66000
3. v 70000
4. = 76000

General English1
Group Number : 7
Group Id: 5459271147
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group?: No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General Englishil

Section Id : 5459271147

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459271375
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54592723149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

The euro was adopt on January 1, 1999 and the first coins
began to circulate three years later.

Options:

1. v The euro was adopt

2. = on January 1, 1999

3. = and the first coins began

4. = to circulate three years later

Question Number : 121 Question 1d : 54592723149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the segment in the sentence which contains the

grammatical error from the given options.

The euro was adopt on January 1, 1999 and the first coins

began to circulate three years later.



Options:

1. v The euro was adopt

2. = on January 1, 1999

3. = and the first coins began
4,

* to circulate three years later

Question Number : 122 Question Id : 54592723150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

In 60 B.C. Marcus Licinius Crassus was one of the most
powerful man in Rome.

Options:

1. = In 60 B.C.

2. » Marcus Licinius Crassus
3. = was one of the most

4. v powerful man in Rome

Question Number : 122 Question Id : 54592723150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the segment in the sentence which contains the

grammatical error from the given options.

In 60 B.C. Marcus Licinius Crassus was one of the most

powerful man in Rome.

Options:

1. = In 60 B.C.

2. * Marcus Licinius Crassus



3. = was one of the most

4. v powerful man in Rome

Question Number : 123 Question Id : 54592723151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

Silicon Valley’s optimism and the practical dreamers who
keep it gone have long fascinated me.

Options:

1. = Silicon Valley’s optimism
2. = and the practical dreamers
3. v who keep 1t gone

4. = have long fascinated me

Question Number : 123 Question Id : 54592723151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the segment in the sentence which contains the

grammatical error from the given options.

Silicon Valley’s optimism and the practical dreamers who

keep It gone have long fascinated me.

Options:

1. = Silicon Valley’'s optimism
2. *» and the practical dreamers
3. v who keep It gone

4. = have long fascinated me



Question Number : 124 Question Id : 54592723152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

Sometimes in the pursuit of making things better and
efficient, you may be hurting people along the way.

Options:

1. * Sometimes In the pursuit of

2. » making things better and efficient
3. v you may be hurting

4. = people along the way

Question Number : 124 Question Id : 54592723152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the segment in the sentence which contains the

grammatical error from the given options.

Sometimes In the pursuit of making things better and

efficient, you may be hurting people along the way.

Options:

1. * Sometimes In the pursuit of
2. » making things better and efficient
3. v you may be hurting

4. = people along the way

Question Number : 125 Question Id : 54592723153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Identify the segment in the sentence which contains the
grammatical error from the given options.

With the advent of artificial intelligence—computers learning
to think like humans—data has become most important
resource.

Options:

1. = With the advent of artificial intelligence
2. » computers learning to think like humans
3. » data has become

4. v most Important resource.

Question Number : 125 Question Id : 54592723153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the segment in the sentence which contains the

grammatical error from the given options.

With the advent of artificial intelligence—computers learning
to think like humans—data has become most important

resource.

Options:

1. = With the advent of artificial intelligence

2. = computers learning to think like humans
3. * data has become
4.

v Most important resource.

Question Number : 126 Question Id : 54592723154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Journalists are losing jobs so fast it’s time they go into
entrepreneur mode.

Options:

1. v they went into

2. * go 1nto
3. % their going into
4. * No substitution required

Question Number : 126 Question Id : 54592723154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there I1s no

need to substitute It, select option No substitution required.

Journalists are losing jobs so fast it's time they go into

entrepreneur mode.

Options:

1. v they went Into

2. ® go Into

3. = their going Into

4. = No substitution required

Question Number : 127 Question Id : 54592723155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Temperature rise and climate change effects not just few
countries but the entire globe, on which all species live.

Options:

1. = effect just few country

2. v affect not just some countries
3. = affect few country
4. * No substitution required

Question Number : 127 Question Id : 54592723155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there I1s no

need to substitute It, select option No substitution required.

Temperature rise and climate change effects not just few

countries but the entire globe, on which all species live.

Options:

1. = effect just few country
2. v affect not just some countries
3. = affect few country

4. = No substitution required

Question Number : 128 Question Id : 54592723156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Over the years, it has become increasingly clear that cocoa
and chocolates are not just good to taste, and are good to
cognition as well.

Options:

1. = and are good for

2. = but are good to
3. v but are good for
4. * No substitution required

Question Number : 128 Question Id : 54592723156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there I1s no
need to substitute It, select option No substitution required.
Over the years, it has become Increasingly clear that cocoa

and chocolates are not just good to taste, and are good to

cognition as well.

Options:

1. = and are good for
2. = but are good to

3. v but are good for
4.

= No substitution required

Question Number : 129 Question Id : 54592723157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Unlike normal cells in our body, cancer cells keep on dividing
and multiplyingwithout control, forming lumps called tumors.

Options:

1. = keeps on divide and multiply

2. » keeping on dividing and multiplying
3. = keep on divide and multiply
4. v No substitution required

Question Number : 129 Question 1d : 54592723157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there Is no
need to substitute It, select option No substitution required.

Unlike normal cells in our body, cancer cells keep on

dividing and multiplyingwithout control, forming lumps called

tumors.

Options:

1. = keeps on divide and multiply
2. % keeping on dividing and multiplying
3. » keep on divide and multiply

4. v No substitution required

Question Number : 130 Question Id : 54592723158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

The UN is calling on people everywhere to take concrete steps
to beat plastic pollution at its own life.

Options:

1. ¥ in their own lives

2. = at their own lives
3. x on its own life
4. * No substitution required

Question Number : 130 Question Id : 54592723158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there I1s no

need to substitute It, select option No substitution required.

The UN i1s calling on people everywhere to take concrete

steps to beat plastic pollution at its own life.

Options:

1. ¢ In their own lives

2. = at their own lives
3. % on Iits own life

4. = No substitution required

Question Number : 131 Question Id : 54592723159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to {ill in the blank.

Europe from the 2003 heat wave, which killed more
than 70,000 across the continent.
Options:

1. v has learned
2. » have learned
3. = learns

4. » learn

Question Number : 131 Question Id : 54592723159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Europe from the 2003 heat wave, which killed

more than 70,000 across the continent.

Options:

1. v has learned
2. * have learned
3. % |earns

4. = learn

Question Number : 132 Question Id : 54592723160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Plastic cutlery is everywhere, and most of can be used
only once.

Options:

1. « them



2. v it
3. = Qone
4. = theirs

Question Number : 132 Question Id : 54592723160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Plastic cutlery 1s everywhere, and most of can be

used only once.

Options:

1. = them
2. v It
3. % one

4. = theirs

Question Number : 133 Question Id : 54592723161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Plastic cutlery is everywhere, and most of can be used

only once.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. them
2.1t

3. one
4. theirs

Question Number : 133 Question Id : 54592723161 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Plastic cutlery 1s everywhere, and most of can be

used only once.
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:

1. them
2.1t

3. one
4. theirs

Question Number : 134 Question Id : 54592723162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Making plastic utensils bright and poppy to also
making them very popular, historians say.

Options:

1. = contribute

2. % contributes
3. v contributed

4. = contributing

Question Number : 134 Question Id : 54592723162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

Making plastic utensils bright and poppy to also

making them very popular, historians say.

Options:

1. = contribute
2. = contributes
3. v contributed

4. = contributing

Question Number : 135 Question Id : 54592723163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Books are essential items to pack summer travels,
right next to the sunscreen and shades.

Options:

1. = with
2. % 10
3. = at
4. v for

Question Number : 135 Question Id : 54592723163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Books are essential items to pack summer travels,

right next to the sunscreen and shades.

Options:



1. = with
2. = 1o
3. » at
4. v for

Question Number : 136 Question Id : 54592723164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

There are more than 20 species of coffin fish, found across the
world depths of up to 8,200 feet.

Options:

1. v at
2. % 1n
3. % 0on
4. = by

Question Number : 136 Question Id : 54592723164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

There are more than 20 species of coffin fish, found across
the world depths of up to 8,200 feet.

Options:

1. v at
2. %1In
3. * on
4, = by



Question Number : 137 Question 1d : 54592723165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Officials in Barcelona, one of the world’s busiest cruise ports,
promised tighter controls on mass tourism.

Options:

1. = has

2. v have

3. = having
4. = haven't

Question Number : 137 Question 1d : 54592723165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Officials in Barcelona, one of the world’s busiest cruise

ports, promised tighter controls on mass tourism.

Options:

1. = has

2. v have
3. ®= having
4. = haven’t

Question Number : 138 Question 1d : 54592723166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

When you arrive at a place, you part of that place.

Options:



1. » hecame
2. » becomes
3. v become
4. = hecoming

Question Number : 138 Question Id : 54592723166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

When you arrive at a place, you part of that place.

Options:

1. = became

2. * becomes
3. v become

4. = becoming

Question Number : 139 Question Id : 54592723167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the following sentences in their correct order to
form a meaningful paragraph.

A: And yet, the coaching industry is rapidly growing.

B: The rate of suicides in Kota where many students converge
to prepare for entrance exams, remains high.

C: In May, a deadly fire at a coaching center in Surat snuffed
out 22 young lives.

D: Around 12 percent of a family’s expenses go towards
private coaching, across rich and poor families alike.

Options:

1. v CBAD



2. » CDAB
3. = CADB
4. = CBDA

Question Number : 139 Question Id : 54592723167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the following sentences In their correct order to

form a meaningful paragraph.

A: And yet, the coaching industry is rapidly growing.

B: The rate of suicides In Kota where many students
converge to prepare for entrance exams, remains high.
C: In May, a deadly fire at a coaching center in Surat
snuffed out 22 young lives.

D: Around 12 percent of a family’s expenses go towards

private coaching, across rich and poor families alike.

Options:

1. v CBAD
2. = CDAB
3. = CADB
4. = CBDA

Question Number : 140 Question Id : 54592723168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has four parts, rearrange the given parts so as to
form a meaningful sentence.

A: When Paul became sick one recent winter and developed a
really bad cough

B: introduced him to the benefits of raw honey.

C: he visited a local store where the owner

D: that neither medicine, home remedies or a trip to the
doctor could cure,

Options:

1. = ADBC
2. v ADCB
3. = ACBD
4.« ACDB

Question Number : 140 Question Id : 54592723168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has four parts, rearrange the given parts so as

to form a meaningful sentence.

A: When Paul became sick one recent winter and
developed a really bad cough

B: introduced him to the benefits of raw honey.

C: he visited a local store where the owner

D: that neither medicine, home remedies or a trip to the

doctor could cure,

Options:

1. = ADBC



2. v ADCB
3. = ACBD
4. = ACDB

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions;

Number of Questionsto be attempted:

Section Marks:

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

General English2

8
5459271148
0

0
No
No
0
20
No
Yes
0

0

General English?

5459271148
1

Online
Mandatory
16

16

20

1
5459271376
Yes

Question Number : 141 Question Id : 54592723169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences in their correct order to
form a meaningful paragraph.

A: Even if you manage to grow a plant successfully, growing
food is another ballgame altogether.

B: They have varied water needs, soll requirements and
temperature and sunlight preferences.

C: Anyone who has ever bought a plant from a nursery,
watered it every day and watched in dismay as it failed to
thrive, knows that gardening isn’t easy.

D: Vegetables such as bitter gourd and tomato grow almost
like weeds, but others are trickier.

Options:

1. = DBAC
2. = DACB
3. v CADB
4. = CBAD

Question Number : 141 Question Id : 54592723169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences In their correct order to

form a meaningful paragraph.

A: Even If you manage to grow a plant successfully,
growing food Is another ballgame altogether.

B: They have varied water needs, soil requirements and
temperature and sunlight preferences.

C: Anyone who has ever bought a plant from a nursery,
watered It every day and watched In dismay as it failed to
thrive, knows that gardening isn’t easy.

D: Vegetables such as bitter gourd and tomato grow almost

lilke weeds, but others are trickier.

Options:

1. = DBAC
2. = DACB
3. v CADB
4. « CBAD

Question Number : 142 Question Id : 54592723170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Amplify
Options:

1. v Increase
2. * Destroy
3. = Improve



4, » Descend

Question Number : 142 Question Id : 54592723170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Amplify

Options:

1. ¢ Increase
2. = Destroy
3. = Improve

4. = Descend

Question Number : 143 Question 1d : 54592723171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Condemn

Options:

1. = Interrupt
2. v Praise
3. » Assign
4. = Intensify

Question Number : 143 Question Id : 54592723171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Condemn

Options:



1. = Interrupt
2. v Praise
3. ® Assign
4. % Intensify

Question Number : 144 Question Id : 54592723172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Accumulate

Options:

1. » Improve
2. * Deepen
3. v Gather
4. % Scatter

Question Number : 144 Question Id : 54592723172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the synonym of the given word.

Accumulate

Options:

1. = Improve
2. » Deepen
3. v Gather

4. = Scatter

Question Number : 145 Question 1d : 54592723173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the antonym of the given word.

Atrocious

Options:

1. v Admirable
2. » Driven

3. = Uneven
4. = Hidden

Question Number : 145 Question Id : 54592723173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Atrocious

Options:

1. v Admirable
2. = Driven
3. # Uneven
4. = Hidden

Question Number : 146 Question Id : 54592723174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct pair of homophones to fill in the blanks.

He might at the office briefly before leaving for the
day.

The feet of the throne are modeled after large catlike
without claws.

Options:



1. = pause, pause
2. v pause, paws
3. ® paws, pause
4. » paws, paws

Question Number : 146 Question Id : 54592723174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct pair of homophones to fill in the blanks.

He might at the office briefly before leaving for

the day.

The feet of the throne are modeled after large catlike

without claws.

Options:

1. *= pause, pause
2. ¥ pause, paws
3. ® paws, pause

4. % paws, paws

Question Number : 147 Question Id : 54592723175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Villian
2. » Heroic
3. = Traffic
4. = Analysis



Question Number : 147 Question Id : 54592723175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. ¢ Villian
2. = Heroic
3. » Traffic
4. = Analysis

Question Number : 148 Question Id : 54592723176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. » Surgeon
2. v Publicety
3. » Opinion
4. = Relative

Question Number : 148 Question Id : 54592723176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the wrongly spelt word.

Options:

1. = Surgeon
2. v Publicety
3. ® Opinion
4. = Relative

Question Number : 149 Question Id : 54592723177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:



1. = Prisoner

2. » Exhibition
3. v Consistancy
4. = Interval

Question Number : 149 Question Id : 54592723177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Prisoner
2. = Exhibition
3. v Consistancy

4. = |nterval

Question Number : 150 Question 1d : 54592723178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Come rain or shine

Options:

1. v No matter what the weather is.
2. » In a hurried manner

3. = Lacking support

4. = In a confused state

Question Number : 150 Question Id : 54592723178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Come rain or shine



Options:

1. v No matter what the weather is.
2. % In a hurned manner

3. = Lacking support

4. = In a confused state

Question Number : 151 Question Id : 54592723179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

At the drop of a hat

Options:

1. = Clearly

2. v Immediately

3. # In the end

4. = Lacking in confidence

Question Number : 151 Question Id : 54592723179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

At the drop of a hat

Options:

1. = Clearly
2. v Immediately
3. # In the end

4. = Lacking In confidence

Question Number : 152 Question Id : 54592723180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the meaning of the given idiom.

A dry run

Options:

1. = Without water

2. » A short walk

3. v A practice session
4. = Without work

Question Number : 152 Question Id : 54592723180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

A dry run

Options:

1. = Without water
2. = A short walk

3. v A practice session

4. = Without work

Question Number : 153 Question Id : 54592723181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

A post-mortem examination to discover the cause of death or
the extent of disease.

Options:

1. v Autopsy
2. = Clergy



3. = Cemetery
4. = Gentry

Question Number : 153 Question Id : 54592723181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

A post-mortem examination to discover the cause of death

or the extent of disease.

Options:

1. v Autopsy
2. % Clergy
3. = Cemetery
4. = (Gentry

Question Number : 154 Question Id : 54592723182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

A wide street In a town or city, typically one lined with trees.

Options:

1. » Enclave

2. v Boulevard
3. = Highway
4. = Artery

Question Number : 154 Question Id : 54592723182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word which means the same as the group of

words given.

A wide street In a town or city, typically one lined with trees.

Options:

1. = Enclave

2. v Boulevard
3. = Highway
4. = Artery

Question Number : 155 Question Id : 54592723183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

A ruler with total power over a country, typically one who
has obtained control by force

Options:

1. = Tutor
2. = Pastor
3. v Dictator
4. = Amateur

Question Number : 155 Question Id : 54592723183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word which means the same as the group of

words given.

A ruler with total power over a country, typically one who

has obtained control by force

Options:

1. = Tutor
2. = Pastor
3. v Dictator

4. = Amateur

Sub-Section Number: 2
Sub-Section 1d: 5459271377
Question Shuffling Allowed : Yes

Question Id : 54592723184 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

QQuestion Label : Comprehension



Answer the questions based on the following passage.

While plastic has many valuable uses, we have become
addicted to single-use or disposable plastic — with severe
environmental consequernces. Around the world, one million
plastic drinking hottles are purchased every minute, while up
to 5 trillion single-use plastic bags are used worldwide every
year. In total, half of all plastic produced is designed to be
used only once — and then thrown away. Plastic waste is now
so ubiquitous in the natural environment that scientists have
even suggested it could serve as a geological indicator of the
Anthropocene era.

We need to slow the flow of plastic at its source, but we also
need to improve the way we manage our plastic waste.
Because right now, a lot of it ends up in the environment.

Plastic waste — whether in a river, an ocean, or on land —
can persist in the environment for centuries. The same
properties that make plastics so useful — their durability and
resistance to degradation — also make them nearly
impossible for nature to completely break down. Most plastic
items never fully disappear; they just get smaller and smaller.
Many of these tiny plastic particles are swallowed by farm
animals or fish who mistake them for food, and thus can find
their way onto our dinner plates. They've also been found in a
majority of the world’s tap water. By clogging sewers and
providing breeding grounds for mosquitoes and pests, plastic
waste — especially plastic bags — can increase the
transmission of vector-borne diseases like malaria.

But the world is waking up to the problem, and governments
are starting to act.

There are a number of things that governments can do —
from running public awareness campaigns, to offering
incentives for recycling, to introducing levies or even banning
certain products outright. In the last decade, dozens of
national and local governments around the world have
adopted policies to reduce the use of disposable plastic. And
the number continues to grow. Africa stands out as the
continent where the most countries have adopted a total ban
on the production and use of plastic bags.

An impressive — and growing — number of national and
local governments have taken action against plastic pollution.
We've seen a lot of positive action, but the truth is that we all
need to do more.



Sub questions

Question Number : 156 Question Id : 54592723185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The main concern of the author in the given passage is:

Options:

1. v Plastic pollution

2. * Public awareness campaigns
3. » Ban on plastic products

4. = Disposable plastic

Question Number : 157 Question Id : 54592723186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statement is not true according to the
passage?

Options:

1. = Around the world, one million plastic drinking bottles are
purchased every minute.

2. v Plastic waste is not responsible for the transmission of
vector borne disease.

3. » Half of all plastic produced is designed to be used only
once

4. = Disposable plastic has severe environmental consequences

Question Number : 158 Question Id : 54592723187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which properties of plastic make it nearly impossible to
break down?

Options:

1. = Durability

2. = Resistance to degradation

3. v Durability and Resistance to degradation
4. = Recycling



Question Number : 159 Question 1d : 54592723188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options has not been suggested as one
of the ways to tackle plastic pollution?

Options:

1. = Running public awareness campaigns
2. » Incentives for recycling

3. » Introducing bans & levies

4. v Promoting the use of single use plastic.

Question Number : 160 Question Id : 54592723189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From among the given options, choose the word which is
most nearly the same as the word ‘pervasive’ as used in the
1st paragraph, 4th line:

Options:

1. v Everywhere
2. = Nearly
3. » Hardly
4. = Severe

Question Id : 54592723184 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Answer the questions based on the following passage.

While plastic has many valuable uses, we have become
addicted to single-use or disposable plastic — with severe
environmental consequences. Around the world, one million
plastic drinking bottles are purchased every minute, while up
to 5 trillion single-use plastic bags are used worldwide
every year. In total, half of all plastic produced is designed
to be used only once — and then thrown away. Plastic
waste is now so ubiquitous in the natural environment that
scientists have even suggested it could serve as a

geological indicator of the Anthropocene era.

We need to slow the flow of plastic at its source, but we
also need to improve the way we manage our plastic
waste. Because right now, a lot of it ends up in the

environment.

Plastic waste — whether in a river, an ocean, or on land —
can persist in the environment for centuries. The same
properties that make plastics so useful — their durability and
resistance to degradation — also make them nearly
impossible for nature to completely break down. Most plastic
items never fully disappear; they just get smaller and
smaller. Many of these tiny plastic particles are swallowed
by farm animals or fish who mistake them for food, and
thus can find their way onto our dinner plates. They've also
been found in a majority of the world’s tap water. By
clogging sewers and providing breeding grounds for
mosquitoes and pests, plastic waste — especially plastic
bags — can increase the transmission of vector-borne

diseases like malaria.

But the world is waking up to the problem, and

governments are starting to act.

There are a number of things that governments can do —
from running public awareness campaigns, to offering
incentives for recycling, to introducing levies or even
banning certain products outright. In the last decade, dozens
of national and local governments around the world have
adopted policies to reduce the use of disposable plastic.
And the number continues to grow. Africa stands out as the
continent where the most countries have adopted a total

ban on the production and use of plastic bags.

An impressive — and growing — number of national and
local governments have taken action against plastic pollution.
We've seen a lot of positive action, but the truth is that we

all need to do more.



Sub questions

Question Number : 156 Question Id : 54592723185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The main concern of the author Iin the given passage Is:

Options:

1. v Plastic pollution
2. » Public awareness campaigns
3. *» Ban on plastic products

4. = Disposable plastic

Question Number : 157 Question Id : 54592723186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statement is not true according to the

passage”
Options:

1. = Around the world, one million plastic drinking bottles

are purchased every minute.

2. v Plastic waste 1s not responsible for the transmission of

vector borne disease.

3. = Half of all plastic produced i1s designed to be used

only once

4. = Disposable plastic has severe environmental

consequences

Question Number : 158 Question 1d : 54592723187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which properties of plastic make 1t nearly impossible to

break down?

Options:



1. = Durability

2. = Resistance to degradation

3. v Durability and Resistance to degradation
4. = Recycling

Question Number : 159 Question Id : 54592723188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options has not been suggested as

one of the ways to tackle plastic pollution?

Options:

1. * Running public awareness campaigns
2. * Incentives for recycling
3. = Introducing bans & levies

4. v Promoting the use of single use plastic.

Question Number : 160 Question Id : 54592723189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From among the given options, choose the word which Is
most nearly the same as the word ‘pervasive’ as used In

the 1st paragraph, 4th line:

Options:

1. v Everywhere
2. * Nearly
3. » Hardly

4. = Severe
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Section Id : 5459271149
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Section Marks: 20
Sub-Section Number: 1
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 54592723190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3TOTHT Tehd WTUT T el e & 1o TgET # Tgur fehdr T 872

Options:

1. = 3T

2. % bt

3. v Qi
4, % BT

Question Number : 161 Question Id : 54592723190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR Tore 9T T Hel o § o9 18T & #gor foham am=r 87

Options:

1. = 3731




Question Number : 162 Question Id : 54592723191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"ToTTcha” e H TdT g

Options:

1. %@
2. % T
3.ved
4. % &q

Question Number : 162 Question Id : 54592723191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TATR 58 H UTT &

Options:

1. = d
2. = Tora
3. v 5d

4. « &

Question Number : 163 Question 1d : 54592723192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

chlell THel dh TeTg el T@ilchd ITIU:

Options:

1. » eTeil Tl

2. % @leil A TH

3. % @lell 3 [ ghT
4. v HTel g 11 TR

Question Number : 163 Question Id : 54592723192 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

STell THT & 9318 T T@Iiehd HIToIT:

Options:

1. = hrell fAT

2. = ahrell 3T AT

3. % whrell & AT foraehr
4. v &l § S AT

Question Number : 164 Question Id : 54592723193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl # IF-9T e Tagi Fi-8r T STgeur?

Options:

1. v 3dUa
2. % TG

3. % W

4, = g

Question Number : 164 Question Id : 54592723193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafa@a & Sia-ar oeg AT Tfe &7 3EEI0T?

Options:

1. v AdUg
2. « Mg
3. * Hoolel
4. = @d

Question Number : 165 Question Id : 54592723194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THTel T H I8 e[S HICTID FIT Tal 57

Options:

1. * Ge[@Ts




2. % TS
3. % WG
4, v WA

Question Number : 165 Question Id : 54592723194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAFATT&d H HId-AT 26 HITATdh TaAT Aol &7

Options:

4. v 3THACT

Question Number : 166 Question Id : 54592723195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THHATCl T # IF-9T e[S "Del DI TIIIardl gl §?
Options:

1. * IUST
2. % IS
3. = qield
4. v el

Question Number : 166 Question Id : 54592723195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farreiET 7 sia-ar e 'ssae’ T TG ol &7

Options:

1. = &S
2. % 3TFST
3. = afelel
4. v Tool=e




Question Number : 167 Question Id : 54592723196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAHATel I # hIF-9T e[S " TTRYTT T Tl S[E, 872
1.%341?@3
2. % Tdpue
3. v Tdeyor
4. = gy

Question Number : 167 Question Id : 54592723196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl T&d H HileT-AT e 'JMRY0T =7 delld eeg &7

1. = 3Mtc
2. = [Qepsce

o

3. v fa&ygor

4, = FhYOT

Question Number : 168 Question Id : 54592723197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"G ST el ATl aTpTer & Tel 1aU 7T Tadhelul # ST A9

Options:

1. * JelaX

2. v ST

3. # Selel¥
4, % THIL

Question Number : 168 Question Id : 54592723197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

£ ST <Teler arell” arramel & folv faw av a<kedl & mﬂa——cr
oreg, Glelv:

Options:




\JW

ol
#®

% I

Question Number : 169 Question Id : 54592723198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T IS T Fgl 31 g

Options:

1. v P

2. % g
3. % aTg
4. = Jurg

Question Number : 169 Question Id : 54592723198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'3 e hT Tl Y &

Options:

1. v FRT

2.«
3.« T
4.

% SUTT

Question Number : 170 Question Id : 54592723199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl T # & T (STHeT) S T LT D

Options:

1. v T
2. % 39
3. 5d




4, = gt

Question Number : 170 Question 1d : 54592723199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faFafel@a & 8 3r9erd (SHe) 2eg T T

Options:

1. v 91T
2. = 3790

3. = gd
4. = ST

Question Number : 171 Question Id : 54592723200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"I @ TeellH e 3:

Options:

1. = NI
2. @

3. v At

4, % 3RPR

Question Number : 171 Question Id : 54592723200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'3TIT T TN H s &

Options:

1. * 39T
2. % Th

3. v STaaT
4, % YRR

Question Number : 172 Question Id : 54592723201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR @ 379 3



Options:

1. v STgT e STef &t Uger gl
2. % STgI ofdh oTg<l el Ugd gl

3. * T W W g aTol gIi
4. » PIINHT & Tl ST

Question Number : 172 Question Id : 54592723201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'TheTT T 3T &

Options:

1. v SI&I deh o7 a?rq_a;’?ra’r
2. % SI&l olh msﬁ‘cﬁrqé’?ra’r
3. » & e F glel aATell Blfel
4, » HEAH & IF HT 35

Question Number : 173 Question 1d : 54592723202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl G § & DI-ET Yeh A FATTAT 8

Options:

1. * TE-UETS
2. % GIH-oITH
3. % Sita=T-#I0T
4. v STHT-Tee

Question Number : 173 Question 1d : 54592723202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frfeli@T & & Fiaar v 77 FATAT &

Options:

1. = FCI-U&S
2. % BIel-olTe

3. = Sdel-AI0]




4. v grar-faes

Question Number : 174 Question Id : 54592723203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

a2 Tth Lt qATeh i FLeTdT gl DI GepdTl
N N

Options:

1. * PpAA

3. = Plod
4. = P

Question Number : 174 Question Id : 54592723203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tod Il STTFd hl LT oIal ole GehdT|

Options:

1. = FAA
2. v e
3. * hidal
4. %

Question Number : 175 Question 1d : 54592723204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TehdlY T0T g Tchd &t HF T g aTell & AT hgl ST 572

Options:

1. g9
2. * €,

3. v @
4. = YL

Question Number : 175 Question 1d : 54592723204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foreiT TO =afohd T Hcg W glel TTell T FIT FFT ST 7

Options:




» T
x Tg
oo
x T

ol
<

Question Number : 176 Question 1d : 54592723205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T T WG FGT I GATT FT 37
Options:

1. = dTe]

2. % &S

3. vl
4, % &d

Question Number : 176 Question Id : 54592723205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

' FUT T el Fal STAROT TUTe FAT &7

Options:

1. % Qe

2. * HS
3.&?3‘2‘__[%1?
4. = 2

Question Number : 177 Question Id : 54592723206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THHATel T # & IF-9T e Jel T g7

Options:

1. v HIdT
2. % el
3. % Har



4, = =T

Question Number : 177 Question 1d : 54592723206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT A O Hied-aT <lsg gﬁl'clT ¥4

Options:

1. v AT
2. = T
3. % AT
4, = T

Question Number : 178 Question Id : 54592723207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A DIT-GT AT 572
Options:

1. *» JeUdd

2. % FFETID

3. v Mg
4. = I EIATID

Question Number : 178 Question Id : 54592723207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'TE' HloT-OT GdoTH &7

Options:

1. = ghqqmch

2. % YRoldIdeh

3. v Aegaar=<
4. » TareTIaT<Ieh

Question Number : 179 Question Id : 54592723208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TH S T T 39 A1 § Ydhiel o chd &Y H [ohaT @ giv @l AT gl
BT 87

Options:

1. » QAT YdhTel
2. v FTEITE Yddhrel
3. * 37Ul Ydhrel
4. = gq Yddrer

Question Number : 179 Question Id : 54592723208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH o DT BRI 5§ aRI H #cehlel & Tohd ®9 H fohar &
glel T ATl 81 T8 &7

Options:

1. = HTATCT #cThlel
2. v Ty scTehrel
3. = 3YOT #[chTel
4. = & HdwTA

Question Number : 180 Question Id : 54592723209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'TE BoTH & ToIEdT &' TGT "ol & § DIF-IT BIRD 57
Options:

1. v @0f
2. %
3. * YU
4. % 3UTETT

Question Number : 180 Question Id : 54592723209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'TE Fold O orE@dr § T&T 'Fad T H Hia-OT FRE 57

Options:
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Question Number : 181 Question Id : 54592723210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3G 1SS Al Tg diT-4T [ohaT 32
Options:

1. » 3HHB
2. v GpHD




3. » TRUMYdh
4, » GgHID

Question Number : 181 Question Id : 54592723210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'3HA oSS o8I I§ hidd-UI TohaT &7

Options:

1. % 3Th&S
2. v ThHF
3. =« UUMLeh
4. = TETAR

Question Number : 182 Question Id : 54592723211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"qqG BT 34 F hI--&T T2y 9ee; g2

Options:

1. = gidear
2. # Ui
3. % AT
4. v Hgd

Question Number : 182 Question Id : 54592723211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T FAH T Hle-AT AAV0T e &7

Options:

1. = Fiererr

2. » Hid
3. » A

4. v 7

Question Number : 183 Question 1d : 54592723212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TATl G § & IN-4T AS[E, Tgee g7

Options:

1. = HTAT
2. v JTr
3. % oIS
4. = Tohare

Question Number : 183 Question Id : 54592723212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T # O Fia-ar <%s Sge &7

Options:

1. = HATAT

2. v YT0T
3. % OISl
4. » Tohde

Question Number : 184 Question 1d : 54592723213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl # ¥ Tehd eTpd H TshaT erdaT chlel H g7

Options:

1. * 39 el &T To1T &1

2. v ¥ HERI U7 UG gl
3. = 3[R ToISTell hier IS
4. % deT & 30T dTol

Question Number : 184 Question Id : 54592723213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao Ed # & hg aFg # haT 9dATd il H &7

Options:

1. * 38a el T T 2
2. v H JFERT 97 9¢ & gl




3. % 3<ITereh TSoTell hiel 3OV
4. % el d 3TeT aTor o

Question Number : 185 Question 1d : 54592723214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I T 3T ar GHETY 2l
Options:

1. » 9T
2. % Taoe
3. v gMTC
4. » e

Question Number : 185 Question 1d : 54592723214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T AT 3TERm T JEaed &l

Options:

1. = ofryor
2. = fahe
3. v glase
4. = foaore

Question Number : 186 Question Id : 54592723215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

THHATel R # § Y eThd @l AT hlIT:

1. » g # gD gl

2. v STpUu & 31 T gl

3. » g U IUINIT 94T gl

4, = gTer 3R FH Tep ©TC UL THT Uit al

Question Number : 186 Question Id : 54592723215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




TeEa 7 8 Uqg ATFT FT T N LY

Options:

1. Ig A TEAF ¢

2. v HFSUT & 37eieh ATH g

3. » Sogeh Ueh U eEA g

4, » §TE 3T TR Tk = 9T 9l 9l gl

Question Number : 187 Question 1d : 54592723216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T § & a1pg & s T T T DI

Options:

1. * PUAT AT BT AADTL ¢ i PHUT P

2. % UAT 37TST T IADTL PUAT & Dl PUT B
3. v 31T T (AP & Dl PHUT DY

4, % TS T PUAT ATPIL 1 Pl PUT Pe

Question Number : 187 Question 1d : 54592723216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

%ﬁﬁ@ﬁﬁﬁﬁﬂﬂ%ﬂﬁ FT HT AT hITIT:

Options:

1. = UAT 37T T 7TDTLT Gal hT HUT Y|

2. = FUAT 3TST T TR FOAT ol HT FAT F|

3. v 3IST T 37GeRTel ol T FUT HL|

4. = 3T T FUAT 3G Gat T FUT HI|

Question Number : 188 Question Id : 54592723217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g ATH BT BT 3
Options:

1. * GHT AT DT

2. % TARNTCT Bl



3. v TTol-ATel Bl
4. * T&A-Ud HEAT

Question Number : 188 Question 1d : 54592723217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GoE ATH HLAT ] T B

Options:

1. = AT Adld hdal
2. % 3TARTIEl FIaAT

3. v CTol-HAcIel hidl
4. % TEaT-ITd el

Question Number : 189 Question Id : 54592723218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'O G FRAT & [T gt gTerT 3

Options:

1. * g G &I
2. % Ug ATl

3. * g 3T
4. v Yg & @M

Question Number : 189 Question Id : 54592723218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T TE g & forv el Fema &

Options:

1. = :lg‘e.' TeT oldTa]

2. » Hg CTehell
3. » HF SHa
4.@2@3%%

Question Number : 190 Question 1d : 54592723219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



"qeil P et g T 37 3

Options:

1. v QI g @1 # o1 Gl
2. % DT B T TGHT DA
3. % A T DIH gl BT
4, = e g

Question Number : 190 Question Id : 54592723219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Jell T Sol Elet T 37T &:

Options:

1. v T TG HH A o6& Gl

2. % HIH Flel T TGZTAT Hlal

3. ® Hol TR HIH Gl Hlal
4. % ToTeTeT T

Question Number : 191 Question 1d : 54592723220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR TS (A1 T )

1. % 9
2. % A
3. v HIET
4. % AL

Question Number : 191 Question Id : 54592723220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A-AR HIS (AT T )|

Options:

1. = gar
2.« T




3. v AGY
4. = AAY

Question Number : 192 Question 1d : 54592723221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'8V & g H G @ 1 @ 3ref 3

1. = SITET T T AT
2. v YT I &Ll
3. * SIS TMT

4, % TR DY DT

Question Number : 192 Question 1d : 54592723221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'@v#mﬁgﬁrwaﬂ?wa{ﬁ%

1. = QMEr T I T
2. v 3HIT ST FLAT
3. = STeel Hellell

4. = T FF FIL

Question Number : 193 Question Id : 54592723222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

"SYT T oI +T T WTET D AT @r 31 3

Options:

1. v 370 BTH F BIH TG
2. * Wlch HTer § & g1
3. = T3QTer 9T TGAT

4, = JIG 6T TEAT

Question Number : 193 Question Id : 54592723222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



'IUY T olelT o AT Y AT FT 3T &

Options:

1. v 39at RTH T HTH TE]

2. = AT HF & T Lol
3. » @O O T
4,

x FEH 3TeldT Il

Question Number : 194 Question 1d : 54592723223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ATaT # TR Toivg 3rmd g:

1. * TR WTUT @
2. % GgPHd AT Y
3.« TUTEOT Y
4. v TSI ATIT &

Question Number : 194 Question 1d : 54592723223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BT s # B{uE R 3 g

1. = T T &
2. = GERA W &
3. = ®HT HIST &
4. v IST AT &

Question Number : 195 Question Id : 54592723224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T H TSISITET IT HHTET ST STET et aTedT [e+[g Dhgelldl 3

Options:
1. » TIeRu g g

2. v USFETID Mg

-,




3.  GHIHSTHD T {g
4. » TOgHIAYD g

Question Number : 195 Question Id : 54592723224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T H THAMET AT HTTST AT 1T Hddlal dToll [eg hagolldl o

Options:

faevor g=reh g
2. v UReardeh <eg

AT Tog

TeraTETgs ”eg

Sub-Section Number: 2
Sub-Section 1d: 5459271380
Question Shuffling Allowed : Yes

Question Id : 54592723225 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

QQuestion Label : Comprehension



STl ToIg 3UTSd Tl et Uie T MR YL T IqaT =Tl

PO 11 §I YT Dl ST g, T AYT STell AT AT AT 39 TG i
STEd Tl IEehT SiTa 4T & [T TRGT agd ST 1 3 Fel | gl Iqh
3T & T W &, W ARG o &1 gl ST GATT AT I 1T I ST
UST T, WA gl d! i TS USdT IT, ARG I8 el T 3ITereder 30T 1
TOR ¢f-4IR &g 37U+ 30T F &g hl aggall B GgRT o+ o TG b ol
wﬁgﬁaﬁmﬁ?ﬁmwmazﬁﬁﬁaﬂﬁmwﬁ%ﬁmﬁ
wﬁa@%ﬁg@wﬁmﬁaa@%g@mﬁﬁmwsﬁ?m
UIAgTe & darait o T o9, ST ST G hr ghgar & ar o7 4l
AU 31 3T &IGT, JT &1 & gIATR FYI Fogech UTH o1lg o AT 3T
3IGA & ag TSIt garm dadrall & T o UTd ofig & 3gF & g & g
3 feramy off, W ellg & 3T Tg1 A I & Urw & A1 A ofh e
fersTdT gUI T STdgre STuT TTid & &g T4, ST gIE, Uui gIe, T g,
TEEIer B1Y, 3T B1Y, UHH g, oflg h AT 7 SISt 71T of1 SIAgre 31 sl
| Tefi efTel! I[Sept 3, RE! o, Il , SHed argaTl (g hierg We
HTC I UHICT &, 9 Feehl AT gl TG AYYY 376l TCH-GH T AET
e 3T i 3R Tof TST gl

Sub questions

Question Number : 196 Question Id : 54592723226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oIl oY Ugel AU Pl ARG i SHTCIY TerhdT 2T, P ag STH:

Options:

1. * 31U SRI T GTelT FehaT AT

2. % Thell ol Olel AT dIE GaaT AT

3. % STHI & G, ahdT 9T

4. v U TAUTEAT BT UBTS JahdT AT

Question Number : 197 Question Id : 54592723227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TG &l eI ST & 31 o

Options:




1. = &Tig & &= SIT0T, HTel 3MT1C,
2. v UqA & I Get 3R F&T Bl ool

3. = grgal ¥ & a7 3T
4, = e, & I Mef, TH 31TTC,

Question Number : 198 Question Id : 54592723228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3G ¥ dadT HIelq Siid it I UTd:

Options:
1. * 3o faremy o

2. % I &

3.xagad

4. v JLE I o11g & I GT &

Question Number : 199 Question Id : 54592723229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TG-Y AU Dl oy 3iTeien Tereey g

Options:

1. v Telld efTel DRYE! T FHT T
2. % ollg ¥ & 3T WX

3. * 3T Tergmai W

4. = 31U 3rLET W

Question Number : 200 Question Id : 54592723230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Jugepd i BT aIT Bl

Options:

1. » JuZehd LTeh DT AT he-
2. * GGd I
3. = Uit

4. v YT Pl T-ATS T IT

Question Id : 54592723225 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No



Question Numbers: (196 to 200)

Question Label : Comprehension

s ford arafesa argzmer st fentw 3K wea #1 3caw ST

FG A &Y ANl T AT &, ST He[oT SeTell AT| oA SHT|
38 A T T AT 3HHT g WM F olv A Sy
ST | 3ES H T8 38 36T & T HT I, W AT & 901G
&1 3eTehT FATel AT| 3of el 38 S[ETer IsdT T, widegieadr
TSATST ISdT T, Al 38 o0 3T 3097 o Ry 9R-dR
qE 37Ul 37T & STET Rl T3 hT FENT ol o9 T & 3ol
g7 US T STel F1H H AT @11 THUGSIT bl dleldl Jelleh ITH
T &r 3&T I 3Ha §557 o HT g9 off sa99| 57 8337 &
&Y & Ted Fored 3 wew vfagfas o dganst & e
Sof, ST oI Al 7 gf3sAT @ F7 a7 91| AT 3R 39
ST, 3UA 9Td F gRRR §«v| s o &g & e 3K
m&‘rag%aﬁrg&m Sadr3l & TSl & I dlg o 38T &
3 F U 3w fAUTd o, W & 3 @ A 3 &
wﬁaﬁﬁiﬁﬁimmmgmﬁwgﬁmm?ﬁ?ﬁﬁ
el AT, AT gR, JUUT §R, T8 R, MeUd 8R, 3L &R,
8T &R, dlg & 3T o §Tei AR ol STagrg 318 §erl Tl
qrell Fegehl o, FRIAT o, AT A, TATYF TYIEA o frg
$rerg s G1e dh Gdier &, T Haehl AT &l AW-GT Heod
T TCH-FH I¥ HIET hleh 36T hT 3 el UST &

Sub questions

Question Number : 196 Question Id : 54592723226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



maﬁrqﬁma ST ATEEl T TATAT IELAhRT 2T, FAlfh
qg FelH:

1. w-mﬁaﬁaﬁﬁdm HehdT 2T

2. % Tholl Shl Vel AT hIc TehdT 2T

3. % STHAIA I Tic FHhdl 2T

4. ¢ 39« RUTSAT Y IS GhdT AT

Question Number : 197 Question Id : 54592723227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JTHAUeE hl Tl T b 3TT o

Options:

1. = AE & FeT 0T, AT TS

2. v IR W Fa <o 3N &I I BTel
3. » i3s3t & s« g anfe

4. » §T®S T To M, TH TS

Question Number : 198 Question 1d : 54592723228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U @ 2T FAAT S FAifh Jefah I

Options:

1. = 3eleh TduTC off

2. % 377 &
3.« g &
4, v 3729 3T alg & 3ET &

Question Number : 199 Question Id : 54592723229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TE-2 HIST FT o TR faeard g:



Options:

1. v el aTel SRA! 3 AT W/
2. = dllg ¥ & & W

3. = 39T fAumt o

4. = 3Tal 372d] W

Question Number : 200 Question Id : 54592723230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3UFA ofS=F T TTT FI

Options:

1.&3@&?@&?%@?6@—
2. = 9gd I&
3. % Yhicd

<

4. v GI&T Sad TadTeT T FROT



